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Q.1 A, B, C, D, E, F और G अलग-अलग लंबाई के  हैं। B, F से लंबा है, लेकिन A और G दोनों से छोटा है। A
के वल E से छोटा है। C के वल D से लंबा है। निम्नलिखित में से कौन G से लंबा है?

Ans 1. E

2. F

3. D

4. C

Question ID : 264330131658
Option 1 ID : 264330515731
Option 2 ID : 264330515734
Option 3 ID : 264330515733
Option 4 ID : 264330515732

Status : Answered
Chosen Option : 1

Q.2 दिए गए विकल्पों में से उस संख्या का चयन कीजिए जो निम्नलिखित श्रृंखला में प्रश्न चिह्न (?) के  स्‍थान पर आ
सकती है।
4, 16, 64, 256, ?

Ans 1. 512

2. 986

3. 1024

4. 768

Question ID : 264330112660
Option 1 ID : 264330442725
Option 2 ID : 264330442727
Option 3 ID : 264330442728
Option 4 ID : 264330442726

Status : Answered
Chosen Option : 3

Q.3 दी गई श्रृंखला को पूरा करने के  लिए कौन-सा अक्षर-समूह प्रश्न चिह्न (?) को प्रतिस्थापित करे गा?
RWIC, OUFG, ?, IQZO, FOWS

Ans 1. LSCK

2. LTDK

3. LTDJ

4. LTCK

Question ID : 26433067966
Option 1 ID : 264330266376
Option 2 ID : 264330266378
Option 3 ID : 264330266379
Option 4 ID : 264330266377

Status : Answered
Chosen Option : 1
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Q.4 यदि '+' का अर्थ '×', '−' का अर्थ '÷', '÷' का अर्थ '+', और '×' का अर्थ '−' है, तो निम्नलिखित व्यंजक का मान
ज्ञात करें ।

19 + 72 – 3 × 56 ÷ 65 = ?
Ans 1. 425

2. 401

3. 397

4. 465

Question ID : 264330130352
Option 1 ID : 264330510521
Option 2 ID : 264330510519
Option 3 ID : 264330510520
Option 4 ID : 264330510522

Status : Answered
Chosen Option : 4

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 264330109215
Option 1 ID : 264330429138
Option 2 ID : 264330429139
Option 3 ID : 264330429140
Option 4 ID : 264330429137

Status : Answered
Chosen Option : 3

Q.6 14 फरवरी 2022 को सोमवार था। 14 फरवरी 2020 को सप्ताह का कौन-सा दिन था?

Ans 1. शुक्रवार

2. गुरूवार

3. शनिवार

4. बुधवार

Question ID : 264330144941
Option 1 ID : 264330568020
Option 2 ID : 264330568019
Option 3 ID : 264330568022
Option 4 ID : 264330568021

Status : Marked For Review
Chosen Option : 1
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Q.7 यदि ‘A’ का अर्थ ‘÷’ है, ‘B’ का अर्थ ‘×’ है, ‘C’ का अर्थ ‘+’ है और ‘D’ का अर्थ ‘−’ है, तो निम्नलिखित समीकरण
में प्रश्न चिह्न (?) के  स्थान पर क्या आएगा?
9 B 14 D 16 C 40 A 10 = ?

Ans 1. 118

2. 116

3. 112

4. 114

Question ID : 264330141908
Option 1 ID : 264330555954
Option 2 ID : 264330555953
Option 3 ID : 264330555951
Option 4 ID : 264330555952

Status : Answered
Chosen Option : 4

Q.8 निम्नलिखित में से उस समुच्चय का चयन कीजिए, जिसमें संख्याएँ  उसी प्रकार से संबंधित हैं, जिस प्रकार दिए गए
समुच्चय की संख्याएँ  संबंधित हैं।
(नोट: संख्याओं  को उसके  घटक अंकों में विभाजित किए बिना, पूर्ण संख्याओं  पर ही गणितीय संक्रियाएँ  की जानी
चाहिए। जैसे 13 - मान लीजिए 13 पर गणितीय संक्रियाएँ  जैसे कि 13 में जोड़ना/घटाना/गुणा करना आदि किया
जा सकता है। 13 को 1 और 3 में तोड़कर और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की अनुमति नहीं है।)
(25, 30, 65)
(50, 50, 100)

Ans 1. (45, 40, 75)

2. (25, 132, 18)

3. (44, 157, 14)

4. (35, 178, 15)

Question ID : 26433083125
Option 1 ID : 264330326333
Option 2 ID : 264330326335
Option 3 ID : 264330326334
Option 4 ID : 264330326336

Status : Answered
Chosen Option : 1

Q.9 A, B की बहू है। E, A का भाई है। B का के वल एक पुत्र, C है। यदि D, C का पुत्र है, तो D, A से किस प्रकार
संबंधित है?

Ans 1. भाई

2. बहू

3. पुत्र

4. पौत्र

Question ID : 26433099145
Option 1 ID : 264330389195
Option 2 ID : 264330389196
Option 3 ID : 264330389193
Option 4 ID : 264330389194

Status : Answered
Chosen Option : 3
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Q.10 नीचे एक कथन दिया गया है जिसके  बाद दो निष्कर्ष I और II दिए गए हैं। कथन का ध्यानपूर्वक अध्ययन करें  और
निर्धारित करें  कि कौन सा/से निष्कर्ष निश्चित रूप से सत्य है/हैं।
कथन: A ≥ B ≥ C = D < E; F ≤ C > G
निष्‍कर्ष I: A ≥ F
निष्‍कर्ष II: D > G

Ans 1. के वल निष्कर्ष II सत्य है ।

2. न तो निष्कर्ष I सत्‍य है  और न ही II सत्य है ।

3. निष्कर्ष I और II दोनों सत्य हैं ।

4. के वल निष्कर्ष I सत्य है ।

Question ID : 264330131075
Option 1 ID : 264330513412
Option 2 ID : 264330513414
Option 3 ID : 264330513413
Option 4 ID : 264330513411

Status : Marked For Review
Chosen Option : 3

Q.11 तीन कथनों के  बाद चार निष्कर्ष I, II, III और IV दिए गए हैं। कथनों को सत्य मानते हुए, भले ही वे सामान्य रूप से
ज्ञात तथ्यों से भिन्न प्रतीत होते हों, निर्णय लीजिए कि कौन सा/से निष्कर्ष कथनों का तार्कि क रूप से अनुसरण
करता है/करते हैं।
कथन:
कु छ चेयर, होल्डर हैं।
कु छ होल्डर, बोतल हैं।
कु छ बोतल, चेयर हैं।

निष्कर्ष:
I. सभी चेयर, बोतल हैं।
II. सभी बोतल, चेयर हैं।
III. सभी होल्डर, बोतल हैं।
IV. सभी होल्डर, चेयर हैं।

Ans 1. निष्कर्ष II और III दोनों अनुसरण करते हैं ।

2. कोई निष्कर्ष अनुसरण नहीं करता है ।

3. निष्कर्ष I और II दोनों अनुसरण करते हैं ।

4. निष्कर्ष III और IV दोनों अनुसरण करते हैं ।

Question ID : 26433093159
Option 1 ID : 264330365890
Option 2 ID : 264330365892
Option 3 ID : 264330365889
Option 4 ID : 264330365891

Status : Answered
Chosen Option : 2
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Q.12 अनुराग और भावना ने एक ही जगह से ड्राइव करना शुरू करते हैं। अनुराग ने उत्तर की ओर 11 km ड्राइव किया,
फिर दाएं  मुड़ जाता है और 13 km की दू री तय करता है। भावना पश्चिम की ओर जाती है और 15 km की दू री
तय करती है, फिर दाएं  मुड़ जाती है और 11 km की दू री तय करती है। एक सीधी रे खा में वे एक दू सरे  से कितनी
दू र हैं?

Ans 1. 28 km

2. 50 km

3. 26 km

4. 52 km

Question ID : 264330132107
Option 1 ID : 264330517525
Option 2 ID : 264330517523
Option 3 ID : 264330517524
Option 4 ID : 264330517526

Status : Answered
Chosen Option : 1

Q.13 यदि “he loves coffee” को 123 के  रूप में कू टबद्ध किया जाता है, "coffee has caffeine" को 245 के
रूप में कू टबद्ध किया जाता है, "he coffee caffeine" को 125 और "caffeine is bad" को 567 के  रूप में
कू टबद्ध किया जाता है, तो "he" को ______ के  द्वारा दर्शाया जाएगा।

Ans 1. 4

2. 1

3. 2

4. 3

Question ID : 26433081990
Option 1 ID : 264330321796
Option 2 ID : 264330321793
Option 3 ID : 264330321794
Option 4 ID : 264330321795

Status : Answered
Chosen Option : 2
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Q.14 निम्नांकित शृंखला में पैटर्न को जारी रखने के  लिए प्रश्नचिह्न (?) को किस आकृ ति द्वारा प्रतिस्थापित किया जाना
चाहिए?

Ans

1. 

2. 

3. 

4. 

Question ID : 264330129607
Option 1 ID : 264330507794
Option 2 ID : 264330507797
Option 3 ID : 264330507796
Option 4 ID : 264330507795

Status : Answered
Chosen Option : 2

Q.15 निम्नलिखित में से कौन-सी संख्या दी गई शृंखला में प्रश्न-चिह्न (?) को प्रतिस्थापित करे गी?
2, 9, 37, 149, ?, 2389

Ans 1. 646

2. 648

3. 597

4. 542

Question ID : 264330112579
Option 1 ID : 264330442401
Option 2 ID : 264330442404
Option 3 ID : 264330442403
Option 4 ID : 264330442402

Status : Answered
Chosen Option : 3
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Q.16 निम्नलिखित चार अक्षर-समूहों में से तीन किसी निश्चित तरीके  से आपस में संगत हैं जबकि कोई एक उनसे
असंगत है। असंगत अक्षर-समूह का चयन कीजिए।

Ans 1. XZWB

2. RTQV

3. VXTZ

4. NPMR

Question ID : 26433057240
Option 1 ID : 264330223944
Option 2 ID : 264330223945
Option 3 ID : 264330223947
Option 4 ID : 264330223946

Status : Answered
Chosen Option : 3

Q.17 यदि '* ( )' का अर्थ 'bread butter cake', '& ! *' का अर्थ 'cake and cutter' है, ') (!' का अर्थ 'bread
and butter' है, तो '* * *' का अर्थ ______ होगा।

Ans 1. Butter Butter Butter

2. Bread Bread Bread

3. Cutter Cutter Cutter

4. Cake Cake Cake

Question ID : 26433081993
Option 1 ID : 264330321806
Option 2 ID : 264330321808
Option 3 ID : 264330321807
Option 4 ID : 264330321805

Status : Answered
Chosen Option : 4
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Q.18 उस विकल्प का चयन करें  जिसमें दी गई आकृ ति अंतर्नि हित है (घुमाने की अनुमति नहीं है)।

Ans

1. 

2. 

3. 

4. 

Question ID : 264330132510
Option 1 ID : 264330519137
Option 2 ID : 264330519135
Option 3 ID : 264330519138
Option 4 ID : 264330519136

Status : Answered
Chosen Option : 1
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Q.19 निम्नलिखित में से कौन-सी संख्या दी गई श्रृंखला में प्रश्न चिह्न (?) को प्रतिस्थापित करे गी?
191, 534, 318, 443, ?

Ans 1. 420

2. 413

3. 248

4. 379

Question ID : 26433082434
Option 1 ID : 264330323569
Option 2 ID : 264330323570
Option 3 ID : 264330323571
Option 4 ID : 264330323572

Status : Answered
Chosen Option : 4

Q.20 उस विकल्प का चयन करें  जो तीसरे  शब्द से उसी प्रकार संबंधित है जिस प्रकार दू सरा शब्द पहले शब्द से संबंधित
है।
हैरो : माली :: स्कै लपल : ?

Ans 1. शल्य चिकित्सक

2. पायलट

3. शिक्षक

4. बावर्ची

Question ID : 26433082754
Option 1 ID : 264330324850
Option 2 ID : 264330324852
Option 3 ID : 264330324849
Option 4 ID : 264330324851

Status : Answered
Chosen Option : 1

Q.21 A, B, C, D, E, F, G और H एक वर्गाकार मेज के  परितः मेज के  कें द्र की ओर मुख करके  बैठे  हुए हैं। उनमें से
कु छ मेज कोनों पर बैठे  हैं, जबकि कु छ भुजाओं के  ठीक मध्य में बैठे  हैं। A, C के  दाईं ओर तीसरे  स्थान पर बैठा है।
H, B और G के  बीच में बैठा है। F, C के  दाईं ओर दू सरे  स्थान पर बैठा है। D किसी भी कोने पर नहीं बैठा है। G,
D के  दाईं ओर तीसरे  स्थान पर बैठा है। D और C के  बीच तीन व्यक्ति बैठे  हैं।

B के  बाईं ओर दू सरे  स्थान पर कौन बैठा है?

Ans 1. D

2. E

3. H

4. A 

Question ID : 26433090983
Option 1 ID : 264330357343
Option 2 ID : 264330357344
Option 3 ID : 264330357341
Option 4 ID : 264330357342

Status : Answered
Chosen Option : 4
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Q.22 उस विकल्प का चयन करें  जो तीसरे  शब्द से उसी प्रकार संबंधित है जिस प्रकार दू सरा शब्द पहले शब्द से संबंधित
है। (शब्दों को अर्थपूर्ण हिन्दी शब्दों के  रूप में माना जाना चाहिए और इन्हें शब्द में अक्षरों की संख्या/व्यंजनों की
संख्या/स्वरों की संख्या के  आधार पर एक-दू सरे  से संबद्ध नहीं किया जाना चाहिए।)
सवार (Riders) : सवार-दल (Cavalcade) :: दीमक (Termites) : ?

Ans 1. देश (Country)

2. बैंड (Band)

3. कॉलोनी (Colony)

4. लोग (People)

Question ID : 26433069581
Option 1 ID : 264330272837
Option 2 ID : 264330272838
Option 3 ID : 264330272839
Option 4 ID : 264330272836

Status : Answered
Chosen Option : 3

Q.23 उस विकल्प का चयन करें  जिसमें दी गई आकृ ति अंतर्नि हित है (घुमाने की अनुमति नहीं है)।

Ans

1. 

2. 

3. 

4. 

Question ID : 264330111650
Option 1 ID : 264330438688
Option 2 ID : 264330438685
Option 3 ID : 264330438687
Option 4 ID : 264330438686

Status : Answered
Chosen Option : 4
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Q.24 उस समुच्चय का चयन करें  जिसमें दी गई संख्याएं  आपस में उसी प्रकार संबंधित हैं, जिस प्रकार प्रश्न में दिए गए
समुच्चय की संख्याएं  आपस में संबंधित हैं।
(नोट: संख्याओं  को उसके  घटक अंकों में विभाजित किए बिना, पूर्ण संख्याओं  पर ही गणितीय संक्रियाएँ  की जानी
चाहिए। जैसे 13 - मान लीजिए 13 पर गणितीय संक्रियाएँ  जैसे कि 13 में जोड़ना/घटाना/गुणा करना आदि किया
जा सकता है। 13 को 1 और 3 में तोड़कर और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की अनुमति नहीं है।)
(7, 32, 28)
(2, 12, 8)

Ans 1. (12, 52, 48)

2. (3, 15, 12)

3. (5, 25, 20)

4. (8, 45, 40)

Question ID : 26433087037
Option 1 ID : 264330341791
Option 2 ID : 264330341789
Option 3 ID : 264330341792
Option 4 ID : 264330341790

Status : Answered
Chosen Option : 1

Q.25 दिए गए विकल्पों में से उस संख्या का चयन कीजिए, जो निम्नलिखित शृंखला में प्रश्न-चिह्न (?) को प्रतिस्थापित
कर सकती है।
3360, 4080, ? , 5814

Ans 1. 4896

2. 4913

3. 5090

4. 4930

Question ID : 26433089529
Option 1 ID : 264330351618
Option 2 ID : 264330351617
Option 3 ID : 264330351620
Option 4 ID : 264330351619

Status : Answered
Chosen Option : 1

Q.26 दस व्यक्ति दो समानांतर पंक्तियों में बैठे  हैं, जहाँ प्रत्येक में 5 व्यक्ति इस प्रकार हैं कि अगल-बगल के  व्यक्तियों के
बीच समान दू री है।
पंक्ति 1 में – A, B, C, D और E बैठे  हैं और उन सभी का मुख दक्षिण की ओर है।
पंक्ति 2 में – P, Q, R, S और T बैठे  हैं और उन सभी का मुख उत्तर की ओर है।
इस प्रकार प्रत्येक व्यक्ति दू सरी पंक्ति के  किसी एक व्यक्ति की ओर अभिमुख है।
B, A के  दाएँ  से तीसरे  स्थान पर बैठा है। P, A के  निकटतम पड़ोसी की ओर अभिमुख है। R, P के  बाएँ  से तीसरे
स्थान पर बैठा है। D, उस व्यक्ति के  बाएँ  से दू सरे  स्थान पर बैठा है, जो T की ओर अभिमुख है। D पंक्ति के  किसी
भी अंतिम छोर पर नहीं बैठा है। C, Q की ओर अभिमुख है।
E की ओर कौन अभिमुख है।

Ans 1. R

2. S

3. P

4. T

Question ID : 264330131652
Option 1 ID : 264330515708
Option 2 ID : 264330515710
Option 3 ID : 264330515709
Option 4 ID : 264330515707

Status : Not Answered
Chosen Option : --
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Q.27 उस समुच्चय का चयन कीजिए, जिसमें संख्याएँ  उसी तरह से संबंधित हैं, जिस प्रकार दिए गए समुच्चय की संख्याएँ
आपस में संबंधित हैं। (नोट: संख्याओं  को उसके  घटक अंकों में विभाजित किए बिना, पूर्ण संख्याओं  पर ही
गणितीय संक्रियाएँ  की जानी चाहिए। जैसे 13 - मान लीजिए 13 पर गणितीय संक्रियाएँ  जैसे कि 13 में जोड़ना/
घटाना/गुणा करना आदि किया जा सकता है। 13 को 1 और 3 में तोड़कर और फिर 1 और 3 पर गणितीय
संक्रियाएँ  करने की अनुमति नहीं है।)
(18, 39, 60)
(12, 27, 42)

Ans 1. (16, 35, 54)

2. (20, 37, 60)

3. (11, 25, 33)

4. (8, 19, 33)

Question ID : 26433078963
Option 1 ID : 264330309866
Option 2 ID : 264330309867
Option 3 ID : 264330309865
Option 4 ID : 264330309864

Status : Answered
Chosen Option : 1
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Q.28

Ans

1. 

2. 

3. 

4. 

Question ID : 264330103218
Option 1 ID : 264330405177
Option 2 ID : 264330405178
Option 3 ID : 264330405179
Option 4 ID : 264330405180

Status : Answered
Chosen Option : 3
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Q.29 उस विकल्प का चयन करें , जो छठी संख्या से उसी प्रकार संबंधित है, जिस प्रकार पहली संख्या दू सरी संख्या से
और तीसरी संख्या चौथी संख्या से संबंधित है।
147 : 3 :: 343 : 7 :: ? : 9

Ans 1. 426

2. 388

3. 432

4. 441

Question ID : 26433087208
Option 1 ID : 264330342472
Option 2 ID : 264330342469
Option 3 ID : 264330342470
Option 4 ID : 264330342471

Status : Answered
Chosen Option : 4

Q.30 निम्नलिखित चार अक्षर-समूहों में से तीन एक निश्चित तरीके  से आपस में संगत है, जबकि कोई एक उनसे असंगत
है। असंगत अक्षर-समूह का चयन करें ।

Ans 1. XLQ

2. QEJ

3. ZNS

4. WKO

Question ID : 26433058001
Option 1 ID : 264330226990
Option 2 ID : 264330226988
Option 3 ID : 264330226991
Option 4 ID : 264330226989

Status : Answered
Chosen Option : 4

Q.31 दो कथनों के  बाद दो निष्कर्ष I और II दिए गए हैं। कथनों को सत्य मानते हुए, भले ही वे सामान्य रूप से ज्ञात
तथ्यों से भिन्न प्रतीत होते हों, निर्णय लीजिए कि कौन सा/से निष्कर्ष कथनों का तार्कि क रूप से अनुसरण करता/
करते है/हैं।

कथन:

समस्‍त काला, सफे द है।

कु छ सफे द, स्‍लेटी है।

निष्कर्ष:

I. कु छ स्‍लेटी, काला है।

II. कु छ सफे द, काला है।

Ans 1. के वल निष्कर्ष I अनुसरण करता है

2. न तो निष्कर्ष I अनुसरण करता है  और न ही II अनुसरण करता है

3. के वल निष्कर्ष II अनुसरण करता है

4. निष्कर्ष I और II दोनों अनुसरण करते हैं

Question ID : 264330144955
Option 1 ID : 264330568075
Option 2 ID : 264330568078
Option 3 ID : 264330568076
Option 4 ID : 264330568077

Status : Answered
Chosen Option : 3
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Q.32 दिए गए समीकरण को संतुलित करने के  लिए किन दो संख्याओं  (अंकों को नहीं) को परस्पर बदलना होगा?
(3 × 16) ÷ 8 + 124 ÷ 2 – 64 ÷ (2 × 4) = 84

Ans 1. 64 और 124

2. 16 और 64

3. 8 और 16

4. 2 और 3

Question ID : 264330106670
Option 1 ID : 264330418981
Option 2 ID : 264330418984
Option 3 ID : 264330418982
Option 4 ID : 264330418983

Status : Answered
Chosen Option : 2

Q.33

Ans

1. 

2. 

3. 

4. 

Question ID : 26433087159
Option 1 ID : 264330342275
Option 2 ID : 264330342274
Option 3 ID : 264330342276
Option 4 ID : 264330342273

Status : Answered
Chosen Option : 1
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Q.34 उस विकल्प का चयन करें  जो उन अक्षरों का प्रतिनिधित्व करता है, जिन्‍हें नीचे दिए गए रिक्त स्थानों में क्रमिक रूप
से बाएं  से दाएं  रखे जाने पर अक्षर श्रृंखला पूर्ण हो जाएगी।
CM _ _ LC _ ENL _ ME _ _C _ _NL

Ans 1. ENMCLNME

2. EMNCNLME

3. ENMLNCME

4. ENMCNLME

Question ID : 26433089994
Option 1 ID : 264330353453
Option 2 ID : 264330353455
Option 3 ID : 264330353456
Option 4 ID : 264330353454

Status : Answered
Chosen Option : 4

Q.35 निम्नांकित शृंखला में पैटर्न को जारी रखने के  लिए प्रश्नचिह्न (?) को किस आकृ ति द्वारा प्रतिस्थापित किया जाना
चाहिए?

Ans

1. 

2. 

3. 

4. 

Question ID : 264330129594
Option 1 ID : 264330507744
Option 2 ID : 264330507743
Option 3 ID : 264330507745
Option 4 ID : 264330507742

Status : Marked For Review
Chosen Option : 1
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Q.36 दिए गए समीकरण को संतुलित करने के  लिए किन दो चिह्नों को परस्पर बदलना होगा?

286 ÷ 13 × 2 + 50 - 6 = 0
Ans 1. + और -

2. ÷ और ×

3. - और ×

4. + और ×

Question ID : 264330144854
Option 1 ID : 264330567672
Option 2 ID : 264330567673
Option 3 ID : 264330567674
Option 4 ID : 264330567671

Status : Answered
Chosen Option : 1

Q.37 तीन कथनों के  बाद तीन निष्कर्ष I, II और III दिए गए हैं। कथनों को सत्य मानते हुए, भले ही वे सामान्य रूप से
ज्ञात तथ्यों से भिन्न प्रतीत होते हों, निर्धारित करें  कि कौन-सा/से निष्कर्ष कथनों का तार्कि क रूप से अनुसरण
करता है/करते हैं।

कथन:
सभी सेब अनन्नास हैं।
कु छ सेब आम हैं।
कोई भी आम अंगूर नहीं है।

निष्कर्ष:
I. कु छ अनन्नास अंगूर नहीं हैं।
II. कोई भी अनन्नास अंगूर नहीं है।
III. कु छ सेब अंगूर नहीं हैं।

Ans 1. के वल निष्कर्ष II और III अनुसरण करते हैं ।

2. के वल निष्कर्ष I और III अनुसरण करते हैं ।

3. सभी निष्कर्ष अनुसरण करते हैं ।

4. के वल निष्कर्ष I और II अनुसरण करते हैं ।

Question ID : 264330144936
Option 1 ID : 264330568000
Option 2 ID : 264330568001
Option 3 ID : 264330568002
Option 4 ID : 264330567999

Status : Not Answered
Chosen Option : --
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Q.38 उस विकल्प का चयन कीजिए जो दिए गए शब्दों की सही व्यवस्था को तार्कि क और सार्थक क्रम में दर्शाता है।
1. लुग्दी
2. कागज
3. नोटबुक
4. वृक्ष
5. स्टेशनरी दुकान

Ans 1. 3 4 1 5 2

2. 2 1 4 3 5

3. 1 4 2 5 3

4. 4 1 2 3 5

Question ID : 264330135334
Option 1 ID : 264330530246
Option 2 ID : 264330530244
Option 3 ID : 264330530243
Option 4 ID : 264330530245

Status : Answered
Chosen Option : 4

Q.39 उस विकल्प का चयन कीजिए जो नीचे दिए गए शब्दों के  उस सही क्रम को दर्शाता है, जिस क्रम में वे अंग्रेजी
शब्दकोश में आएंगे।

1. Mitochondria
2. Miticidal
3. Mitigative
4. Mitogenic
5. Mitotically
6. Mitosis

Ans 1. 2, 3, 1, 6, 4, 5

2. 2, 1, 3, 6, 4, 5

3. 2, 3, 1, 4, 6, 5

4. 3, 2, 1, 4, 6, 5

Question ID : 264330144929
Option 1 ID : 264330567972
Option 2 ID : 264330567973
Option 3 ID : 264330567971
Option 4 ID : 264330567974

Status : Answered
Chosen Option : 3

Q.40 ‘A + B’ का अर्थ है ‘A, B का बेटा है’
‘A – B’ का अर्थ है ‘A, B की पत्नी है’
‘A × B’ का अर्थ है ‘A, B का पिता है’
‘A ÷ B’ का अर्थ है ‘A, B का भाई है’
यदि ‘C + M – S × K − P ÷ T’ है, तो निम्नलिखित में से कौन-सा कथन सही नहीं है?

Ans 1. K, M की पुत्री है ।

2. K, M की भतीजी है ।

3. C, S का बेटा है ।

4. K, T के  भाई की पत्नी है ।

Question ID : 264330102486
Option 1 ID : 264330402374
Option 2 ID : 264330402376
Option 3 ID : 264330402375
Option 4 ID : 264330402373

Status : Answered
Chosen Option : 2
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Q.41 नितिन अपने घर से निकलता है और 45 m पूर्व की ओर चलता है। फिर वह बाएँ  मुड़ता है और 48 m चलता है।
वह फिर से बाएँ  मुड़ता है और 27 m चलता है। वह अंतिम बार बाएँ  मुड़ता है और 55 m चलता है। वह उस खंभे
से कितनी दू र है, जो उसके  घर से ठीक 7 m दक्षिण में है?
(मान लें कि सभी मोड़ के वल 90° वाले मोड़ हैं।)

Ans 1. 16 m

2. 31 m

3. 28 m

4. 18 m

Question ID : 264330131623
Option 1 ID : 264330515592
Option 2 ID : 264330515591
Option 3 ID : 264330515593
Option 4 ID : 264330515594

Status : Answered
Chosen Option : 4

Q.42 दी गई शृंखला को पूरा करने के  लिए कौन-सा अक्षर-समूह प्रश्नवाचक चिह्न (?) को प्रतिस्थापित करे गा?

VRPL, UQOK, ? , SOMI, RNLH
Ans 1. TPNJ

2. TOMJ

3. TPMK

4. TOJN

Question ID : 264330144908
Option 1 ID : 264330567889
Option 2 ID : 264330567887
Option 3 ID : 264330567888
Option 4 ID : 264330567890

Status : Answered
Chosen Option : 1

Q.43

Ans 1. 10

2. 9

3. 12

4. 8

Question ID : 26433068623
Option 1 ID : 264330269004
Option 2 ID : 264330269005
Option 3 ID : 264330269006
Option 4 ID : 264330269007

Status : Answered
Chosen Option : 1
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Q.44 निम्नलिखित में से कौन-सी संख्या, दी गई श्रृंखला में प्रश्नचिह्न (?) को प्रतिस्थापित करे गी?
17, 39, 43, 65, ?, 91

Ans 1. 67

2. 75

3. 69

4. 73

Question ID : 264330102154
Option 1 ID : 264330401084
Option 2 ID : 264330401082
Option 3 ID : 264330401081
Option 4 ID : 264330401083

Status : Answered
Chosen Option : 3

Q.45 यदि ‘A’ का अर्थ ‘÷’ है, ‘B’ का अर्थ ‘×’ है, ‘C’ का अर्थ ‘+’ है और ‘D’ का अर्थ ‘−’ है, तो निम्नलिखित समीकरण
में प्रश्न चिह्न (?) के  स्थान पर क्या आएगा?
13 B 3 D 15 A 3 C 6 = ?

Ans 1. 40

2. 30

3. 45

4. 35

Question ID : 264330141901
Option 1 ID : 264330555925
Option 2 ID : 264330555923
Option 3 ID : 264330555926
Option 4 ID : 264330555924

Status : Answered
Chosen Option : 1

Q.46 उस विकल्प का चयन करें , जो छठी संख्या से उसी प्रकार संबंधित है, जिस प्रकार पहली संख्या दू सरी संख्या से
और तीसरी संख्या चौथी संख्या से संबंधित है।
399 : 7 :: 584 : 8 :: ? : 11

Ans 1. 1583

2. 110

3. 1221

4. 1463

Question ID : 26433087211
Option 1 ID : 264330342484
Option 2 ID : 264330342481
Option 3 ID : 264330342482
Option 4 ID : 264330342483

Status : Answered
Chosen Option : 4
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Q.47 दिए गए विकल्पों में से उस संख्या का चयन कीजिए जो निम्नलिखित श्रृंखला में प्रश्न चिह्न (?) के  स्‍थान पर आ
सकती है।
576, 288, 144, 72, ?

Ans 1. 34

2. 36

3. 48

4. 40

Question ID : 264330112669
Option 1 ID : 264330442764
Option 2 ID : 264330442763
Option 3 ID : 264330442761
Option 4 ID : 264330442762

Status : Answered
Chosen Option : 2

Q.48 उस विकल्प आकृ ति का चयन करें , जिसमें दी गई आकृ ति सन्निहित है (घुमाने की अनुमति नहीं है)।

Ans

1. 

2. 

3. 

4. 

Question ID : 264330129589
Option 1 ID : 264330507722
Option 2 ID : 264330507725
Option 3 ID : 264330507724
Option 4 ID : 264330507723

Status : Answered
Chosen Option : 3

 
           

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.49 तीन कथनों के  बाद तीन निष्कर्ष I, II और III दिए गए हैं। कथनों को सत्य मानते हुए, भले ही वे सामान्य रूप से
ज्ञात तथ्यों से भिन्न प्रतीत होते हों, निर्धारित करें  कि कौन-सा/से निष्कर्ष कथनों का तार्कि क रूप से अनुसरण
करता है/करते हैं।
कथन:
कोई भी नदी समुद्र नहीं है।
कु छ नदियां झीलें हैं।
सभी नदियां तालाब हैं।
निष्कर्ष:
I. कु छ झीलें समुद्र हैं।
II. कु छ तालाब समुद्र हैं।
III. कु छ झीलें तालाब हैं।

Ans 1. के वल निष्कर्ष I और III अनुसरण करते हैं ।

2. के वल निष्कर्ष II और III अनुसरण करते हैं ।

3. सभी निष्कर्ष अनुसरण करते हैं ।

4. के वल निष्कर्ष III अनुसरण करता है ।

Question ID : 264330144917
Option 1 ID : 264330567924
Option 2 ID : 264330567925
Option 3 ID : 264330567926
Option 4 ID : 264330567923

Status : Answered
Chosen Option : 4

Q.50

Ans 1. 33

2. 47

3. 53

4. 39

Question ID : 264330101104
Option 1 ID : 264330396963
Option 2 ID : 264330396962
Option 3 ID : 264330396961
Option 4 ID : 264330396964

Status : Answered
Chosen Option : 2

Q.1 गोदावरी नदी का अपवाह बेसिन भारत के  निम्नलिखित में से किन राज्‍यों में फै ला हुआ है?

Ans 1. छत्तीसगढ़, आंध्र प्रदेश, के रल, कर्नाटक और तमिलनाडु

2. छत्तीसगढ़, महाराष्ट्र, कर्नाटक, तमिलनाडु और ओडिशा

3. छत्तीसगढ़, महाराष्ट्र, आंध्र प्रदेश, मध्य प्रदेश, कर्नाटक और ओडिशा

4. महाराष्ट्र, आंध्र प्रदेश, के रल, कर्नाटक और तमिलनाडु

Question ID : 264330111922
Option 1 ID : 264330439775
Option 2 ID : 264330439774
Option 3 ID : 264330439773
Option 4 ID : 264330439776

Status : Answered
Chosen Option : 3

Section : General Awareness
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Q.2 भारत वन स्‍थिति रिपोर्ट 2021 के  अनुसार, ________ समूह कु ल भौगोलिक क्षेत्र के  4,992 km2 को कवर
करता है।

Ans 1. पर्वतीय

2. अल्पाइन

3. कं टक

4. मैंग्रोव

Question ID : 264330113476
Option 1 ID : 264330445990
Option 2 ID : 264330445991
Option 3 ID : 264330445989
Option 4 ID : 264330445992

Status : Answered
Chosen Option : 4

Q.3 निम्नलिखित में से उस प्रक्रिया की पहचान कीजिए जिसमें रासायनिक अभिक्रिया शामिल नहीं है।

Ans 1. साबुन के  कारण हल्दी का रंग बदलना

2. नेल पॉलिश रिमूवर का शीतलन प्रभाव

3. आम का पकना

4. डिटर्जेंट का उपयोग करके  कपड़े साफ करना

Question ID : 264330169291
Option 1 ID : 264330663946
Option 2 ID : 264330663944
Option 3 ID : 264330663943
Option 4 ID : 264330663945

Status : Answered
Chosen Option : 3

Q.4 निम्नलिखित में से कौन-सी भारत में एकमात्र ऊर्ध्‍वाधर रूप से एकीकृ त प्रमुख तांबा उत्पादक कं पनी है?

Ans 1. स्टरलाइट इंडस्ट्रीज

2. हिं दुस्तान कॉपर लिमिटेड

3. झगड़िया कॉपर लिमिटेड

4. हिंडाल्को इंडस्ट्रीज (बिड़ला कॉपर)

Question ID : 26433064530
Option 1 ID : 264330252713
Option 2 ID : 264330252712
Option 3 ID : 264330252715
Option 4 ID : 264330252714

Status : Not Answered
Chosen Option : --

Q.5 भारत में रे डियो प्रसारण, बॉम्बे (मुंबई) के  रे डियो क्लब द्वारा ________ में शुरू किया गया था।

Ans 1. 1929

2. 1934

3. 1923

4. 1938

Question ID : 264330163225
Option 1 ID : 264330640212
Option 2 ID : 264330640213
Option 3 ID : 264330640211
Option 4 ID : 264330640214

Status : Not Answered
Chosen Option : --
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Q.6 भारत के  योजना आयोग (2011-12) के  अनुसार, राज्यों के  किस समूह में गरीबी रे खा के  नीचे की जनसंख्या का
प्रतिशत सबसे कम है?

Ans 1. बिहार और ओडिशा

2. गुजरात और हरियाणा

3. छत्तीसगढ़ और झारखंड

4. के रल और हिमाचल प्रदेश

Question ID : 264330119923
Option 1 ID : 264330469967
Option 2 ID : 264330469969
Option 3 ID : 264330469968
Option 4 ID : 264330469970

Status : Answered
Chosen Option : 2

Q.7 जनसंख्या घनत्व के  घटक के  संबंध में निम्नलिखित में से कौन-सा एक राज्य असंगत है?

Ans 1. अरुणाचल प्रदेश

2. उत्तर प्रदेश

3. तमिलनाडु

4. बिहार

Question ID : 264330166812
Option 1 ID : 264330654283
Option 2 ID : 264330654286
Option 3 ID : 264330654285
Option 4 ID : 264330654284

Status : Answered
Chosen Option : 1

Q.8 मानस, रणथंभौर, कान्हा और सुंदरबन ________ हैं।

Ans 1. जीन बैंक

2. राष्ट्रीय उद्यान

3. चिड़ियाघर

4. पक्षी अभयारण्य

Question ID : 264330170001
Option 1 ID : 264330666682
Option 2 ID : 264330666680
Option 3 ID : 264330666679
Option 4 ID : 264330666681

Status : Answered
Chosen Option : 2
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Q.9 अधिकांश तारककें द्रों में ट्रिपल सूक्ष्मनलिकाओं की एक _______ संरचना होती है, जो युग्म में मौजूद होती हैं और
दोहराव के  बाद लंबकोणतः व्यवस्थित होती हैं।

Ans 1. 9 + 3

2. 9 + 0

3. 8 + 0

4. 6 + 1

Question ID : 264330113474
Option 1 ID : 264330445981
Option 2 ID : 264330445984
Option 3 ID : 264330445982
Option 4 ID : 264330445983

Status : Not Answered
Chosen Option : --

Q.10 मार्च 2023 में, कें द्रीय सामाजिक न्याय और अधिकारिता मंत्रालय ने किस संगठन के  साथ एक समझौता किया,
जिसके  अनुसार आगे आने वाले नेता और समर्थक नशा मुक्त भारत अभियान (एनएमबीए) नामक इस प्रमुख कें द्रीय
कार्यक्रम को आगे बढ़ाएं गे?

Ans 1. श्री तुलसी पीठ सेवा न्यास, चित्रकू ट

2. आर्ट ऑफ लिविं ग, बेंगलुरु

3. पतंजलि योगपीठ, हरिद्वार

4. प्रजापिता ब्रह्माकु मारी ईश्वरीय विश्व विद्यालय, माउंट आबू

Question ID : 264330158470
Option 1 ID : 264330621241
Option 2 ID : 264330621240
Option 3 ID : 264330621239
Option 4 ID : 264330621242

Status : Not Answered
Chosen Option : --

Q.11 गुरु के लुचरण महापात्र वार्षि क पुरस्कार किस राज्य के  द्वारा प्रदान किया जाता है?

Ans 1. तमिलनाडु

2. मणिपुर

3. कर्नाटक

4. ओडिशा

Question ID : 264330157017
Option 1 ID : 264330615446
Option 2 ID : 264330615443
Option 3 ID : 264330615445
Option 4 ID : 264330615444

Status : Answered
Chosen Option : 4
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Q.12 श्रीनिवास वर्धन को किस क्षेत्र में असाधारण और विशिष्ट सेवा के  लिए वर्ष 2023 के  पद्म विभूषण से सम्मानित
किया गया?

Ans 1. कला

2. सार्वजनिक मामले

3. विज्ञान और अभियांत्रिकी

4. वास्तुकला

Question ID : 264330133008
Option 1 ID : 264330521088
Option 2 ID : 264330521090
Option 3 ID : 264330521089
Option 4 ID : 264330521087

Status : Answered
Chosen Option : 4

Q.13 निम्नलिखित में से किस समादेश के  द्वारा सर्वोच्च न्यायालय और उच्च न्यायालय, अधिकार क्षेत्र से बाहर दिए गए
किसी फै सले के  संबंध में अवर कोर्ट से कार्यवाई के  रिकॉर्ड पुनरीक्षण के  लिए मांग सकते हैं?

Ans 1. उत्प्रेषण

2. बन्दी प्रत्यक्षीकरण

3. परमादेश

4. निषेध

Question ID : 264330112773
Option 1 ID : 264330443180
Option 2 ID : 264330443177
Option 3 ID : 264330443178
Option 4 ID : 264330443179

Status : Answered
Chosen Option : 4

Q.14 किस टीम ने UEFA यूरो कप 2020 फु टबॉल खिताब जीता?

Ans 1. इं ग्‍लैंड

2. फ्रांस

3. जर्मनी

4. इटली

Question ID : 264330110330
Option 1 ID : 264330433597
Option 2 ID : 264330433598
Option 3 ID : 264330433600
Option 4 ID : 264330433599

Status : Not Answered
Chosen Option : --
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Q.15 'भौतिक भूविज्ञान (physical geology)' पद का प्रतिपादन किसके  द्वारा किया गया?

Ans 1. विलियम हॉपकिं स

2. जॉर्जि यस एग्रीकोला

3. लुइस अगासिज़

4. अज़ीज़ अबसबेर

Question ID : 264330117626
Option 1 ID : 264330462529
Option 2 ID : 264330462530
Option 3 ID : 264330462532
Option 4 ID : 264330462531

Status : Not Answered
Chosen Option : --

Q.16 निम्नलिखित में से किस शहर में भारत की पहली अंडरवाटर ट्रेन परियोजना शुरू की गई है?

Ans 1. इलाहाबाद

2. पटना

3. हरिद्वार

4. कोलकाता

Question ID : 264330166202
Option 1 ID : 264330651878
Option 2 ID : 264330651876
Option 3 ID : 264330651877
Option 4 ID : 264330651875

Status : Answered
Chosen Option : 4

Q.17 असिक्नी, जो सप्त-सिं धु का एक भाग थी, वर्तमान समय में निम्नलिखित में से किस नदी का नाम है?

Ans 1. रावी

2. झेलम

3. व्यास

4. चिनाब

Question ID : 264330165336
Option 1 ID : 264330648425
Option 2 ID : 264330648423
Option 3 ID : 264330648426
Option 4 ID : 264330648424

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.18 सिं धु घाटी सभ्यता के  निम्नलिखित में से किस स्थल पर विशाल स्नानागार की खोज की गई थी?

Ans 1. कालीबंगा

2. धौलावीरा

3. लोथल

4. मोहन जोदड़ो

Question ID : 264330144835
Option 1 ID : 264330567596
Option 2 ID : 264330567597
Option 3 ID : 264330567598
Option 4 ID : 264330567595

Status : Answered
Chosen Option : 4
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Q.19 टेबल टेनिस में, जिस अवधि के  दौरान गेंद खेल में होती है उसे क्‍या कहा जाता है?

Ans 1. प्‍वाइं ट

2. ऑब्सट्रक्शन

3. लेट

4. रै ली

Question ID : 264330110384
Option 1 ID : 264330433814
Option 2 ID : 264330433816
Option 3 ID : 264330433815
Option 4 ID : 264330433813

Status : Not Answered
Chosen Option : --

Q.20 चेम्बेटी श्रीधरालु नायडू  एक समाज सुधारक थे। वे निम्नलिखित में से किस संगठन से संबंधित थे?

Ans 1. वेद समाज

2. आर्य समाज

3. परमहंस मंडली

4. ब्रह्म समाज

Question ID : 264330165401
Option 1 ID : 264330648686
Option 2 ID : 264330648684
Option 3 ID : 264330648683
Option 4 ID : 264330648685

Status : Not Answered
Chosen Option : --

Q.21 भारत सरकार के  पर्यटन मंत्रालय द्वारा 2014-15 में शुरू की गई स्वदेश दर्शन योजना (एसडीएस) को 2023 में
______________ के  नए रूप में पेश किया गया है।

Ans 1. स्वदेश दर्शन 3.0 (एसडी 3.0)

2. स्वदेश दर्शन 2.0 (एसडी 2.0)

3. स्वदेश दर्शन 1.0 (एसडी1.0)

4. स्वदेश दर्शन 4.0 (एसडी 4.0)

Question ID : 264330158460
Option 1 ID : 264330621201
Option 2 ID : 264330621200
Option 3 ID : 264330621199
Option 4 ID : 264330621202

Status : Not Answered
Chosen Option : --

Q.22 'लेट बॉल', 'स्ट्रोक बॉल' और 'नो लेट' किस खेल का हिस्सा हैं?

Ans 1. पोलो

2. हैं डबॉल

3. स्क्वैश

4. रग्बी

Question ID : 264330119290
Option 1 ID : 264330467447
Option 2 ID : 264330467449
Option 3 ID : 264330467448
Option 4 ID : 264330467450

Status : Not Answered
Chosen Option : --
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Q.23 मोहिनीअट्टम निम्नलिखित में से किस राज्य में लोकप्रिय एक प्रसिद्ध नृत्य शैली है?

Ans 1. उत्तर प्रदेश

2. गुजरात

3. के रल

4. पंजाब

Question ID : 264330109270
Option 1 ID : 264330429358
Option 2 ID : 264330429357
Option 3 ID : 264330429359
Option 4 ID : 264330429360

Status : Answered
Chosen Option : 3

Q.24 निम्नलिखित में से कौन-सा खाद्य में प्रत्यक्ष जैविक खतरे  को दर्शाता है?

Ans 1. कै टरपिलर

2. वायरस

3. प्रोटोजोआ

4. यीस्ट

Question ID : 264330131706
Option 1 ID : 264330515924
Option 2 ID : 264330515926
Option 3 ID : 264330515923
Option 4 ID : 264330515925

Status : Answered
Chosen Option : 2

Q.25 निम्नलिखित में से कौन-सा राजवंश बंगाल के  पाल वंश का उत्तराधिकारी बना?

Ans 1. देवास

2. गौड़

3. सेन

4. मौखरि

Question ID : 264330106598
Option 1 ID : 264330418695
Option 2 ID : 264330418694
Option 3 ID : 264330418696
Option 4 ID : 264330418693

Status : Not Answered
Chosen Option : --

Q.26 पंजाब के  किस राजा ने शाहशुजा और अंग्रेजी कं पनी के  साथ त्रिपक्षीय संधि की थी?

Ans 1. लाल सिं ह

2. खड़क सिं ह

3. दिलीप सिं ह

4. रणजीत सिं ह

Question ID : 264330112189
Option 1 ID : 264330440842
Option 2 ID : 264330440843
Option 3 ID : 264330440844
Option 4 ID : 264330440841

Status : Answered
Chosen Option : 4
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Q.27 प्रथम और द्वितीय विश्व युद्ध के  कारण किन वर्षों में ओलंपिक खेल आयोजित नहीं किए गए थे?

Ans 1. 1924, 1940, 1944

2. 1916, 1940, 1944

3. 1920, 1944, 1948

4. 1916, 1936, 1940

Question ID : 264330110362
Option 1 ID : 264330433728
Option 2 ID : 264330433725
Option 3 ID : 264330433727
Option 4 ID : 264330433726

Status : Answered
Chosen Option : 2

Q.28 इनमें से कौन ‘मैला आँ चल’ नामक उपन्यास के  रचयिता हैं?

Ans 1. कमलेश्वर

2. हरिशंकर परसाई

3. फणीश्वर नाथ ‘रे णु’

4. काशीनाथ सिं ह

Question ID : 264330144838
Option 1 ID : 264330567607
Option 2 ID : 264330567609
Option 3 ID : 264330567608
Option 4 ID : 264330567610

Status : Not Answered
Chosen Option : --

Q.29 निम्नलिखित में से किसे 'बांग्लादेश का जनक' कहा जाता है?

Ans 1. अताउर रहमान खान

2. शेख हसीना

3. मोहम्मद हबीबुर्रहमान

4. शेख मुजीबुर्रहमान

Question ID : 264330119832
Option 1 ID : 264330469603
Option 2 ID : 264330469605
Option 3 ID : 264330469604
Option 4 ID : 264330469606

Status : Answered
Chosen Option : 4

Q.30 मार्च 2023 तक प्राप्‍त जानकारी के  अनुसार, कें द्रीय कॉर्पोरे ट कार्य मंत्री कौन हैं?

Ans 1. अश्विनी वैष्णव

2. स्मृति ईरानी

3. पीयूष गोयल

4. निर्मला सीतारमण

Question ID : 264330165221
Option 1 ID : 264330647983
Option 2 ID : 264330647986
Option 3 ID : 264330647985
Option 4 ID : 264330647984

Status : Answered
Chosen Option : 4
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Q.31 सोनल मानसिं ह _________ की एक प्रमुख नर्तकी हैं।

Ans 1. मणिपुरी नृत्य

2. कथक

3. भरतनाट्यम

4. सत्रीया

Question ID : 264330164798
Option 1 ID : 264330646322
Option 2 ID : 264330646321
Option 3 ID : 264330646320
Option 4 ID : 264330646319

Status : Answered
Chosen Option : 1

Q.32 भगोरिया स्वांग निम्नलिखित में से किस त्योहार से संबंधित है?

Ans 1. दिवाली

2. दशहरा

3. शिवरात्रि

4. होली

Question ID : 26433074089
Option 1 ID : 264330290476
Option 2 ID : 264330290478
Option 3 ID : 264330290477
Option 4 ID : 264330290479

Status : Answered
Chosen Option : 4

Q.33 निम्नलिखित में से किस पंचवर्षीय योजना की शुरुआत से पहले भारत ने संरचनात्मक समायोजन नीतियों की
शुरुआत की थी?

Ans 1. सातवीं पंचवर्षीय योजना

2. आठवीं पंचवर्षीय योजना

3. नौवीं पंचवर्षीय योजना

4. छठी पंचवर्षीय योजना

Question ID : 264330111732
Option 1 ID : 264330439014
Option 2 ID : 264330439015
Option 3 ID : 264330439016
Option 4 ID : 264330439013

Status : Not Answered
Chosen Option : --

Q.34 निम्नलिखित में से कौन-सा यूके रियोटिक, बहुकोशिकीय और स्वपोषी जीव है?

Ans 1. पादप

2. कु कु रमुत्ता

3. जीवाणु

4. जानवर

Question ID : 264330111880
Option 1 ID : 264330439606
Option 2 ID : 264330439608
Option 3 ID : 264330439605
Option 4 ID : 264330439607

Status : Answered
Chosen Option : 1
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Q.35 विद्युत जनरे टर और विद्युत मोटर किस सिद्धांत पर कार्य करते हैं?

Ans 1. क्रमशः फ्लेमिं ग के  दाएं  हाथ के  नियम और बाएं  हाथ के  नियम

2. फ्लेमिं ग के  बाएं  हाथ के  नियम

3. क्रमशः फ्लेमिं ग के  बाएं  हाथ के  नियम और दाएं  हाथ के  नियम

4. फ्लेमिं ग के  दाएं  हाथ के  नियम

Question ID : 264330169283
Option 1 ID : 264330663914
Option 2 ID : 264330663911
Option 3 ID : 264330663913
Option 4 ID : 264330663912

Status : Not Answered
Chosen Option : --

Q.36 कम आय वाले परिवारों को गैर-सूक्ष्म वित्त ऋण प्रदान करने के  लिए, मासिक घरे लू आय के  प्रतिशत के  रूप में,
परिवार के  मासिक ऋण पुनर्भुगतान दायित्वों पर _________ की सीमा होती है।

Ans 1. 

2. 

3. 

4. 

Question ID : 264330109087
Option 1 ID : 264330428628
Option 2 ID : 264330428625
Option 3 ID : 264330428626
Option 4 ID : 264330428627

Status : Not Answered
Chosen Option : --

Q.37 निम्नलिखित में से कौन-सा विकल्प संघ सीलेंटरे टा से संबंधित है?

Ans 1. साइकॉन (Sycon)

2. यूस्पंजिया (Euspongia)

3. स्पंजिला (Spongilla)

4. ऑरे लिया (Aurelia)

Question ID : 264330131676
Option 1 ID : 264330515804
Option 2 ID : 264330515805
Option 3 ID : 264330515806
Option 4 ID : 264330515803

Status : Not Answered
Chosen Option : --

Q.38 निवल अप्रत्यक्ष करों की गणना के  लिए निम्नलिखित में से कौन सा सही सूत्र है?

Ans 1. प्रत्यक्ष कर - सब्सिडी

2. अप्रत्यक्ष कर + सब्सिडी

3. अप्रत्यक्ष कर - सब्सिडी

4. प्रत्यक्ष कर + सब्सिडी

Question ID : 264330109375
Option 1 ID : 264330429780
Option 2 ID : 264330429779
Option 3 ID : 264330429778
Option 4 ID : 264330429777

Status : Not Answered
Chosen Option : --
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Q.39 भारतीय राष्ट्रीय कांग्रेस ने _______ को औपनिवेशिक भारत में पहला स्वतंत्रता दिवस मनाया था।

Ans 1. 15 अगस्त 1930

2. 29 दिसंबर 1929

3. 2 अक्टू बर 1929

4. 26 जनवरी 1930

Question ID : 264330111400
Option 1 ID : 264330437686
Option 2 ID : 264330437685
Option 3 ID : 264330437687
Option 4 ID : 264330437688

Status : Answered
Chosen Option : 4

Q.40 सियालकोट किसकी राजधानी थी?

Ans 1. मिलिं द (Menander)

2. पुष्यमित्र (Pushyamitra)

3. डिमेट्रियस (Demetrios)

4. यूक्रे टाइडस (Eukratides)

Question ID : 264330112146
Option 1 ID : 264330440670
Option 2 ID : 264330440671
Option 3 ID : 264330440669
Option 4 ID : 264330440672

Status : Not Answered
Chosen Option : --

Q.41 'जल्लीकट्टू ' खेल का संबंध निम्नलिखित में से किस राज्य से है?

Ans 1. दिल्‍ली

2. के रल

3. तमिलनाडु

4. ओडिशा

Question ID : 264330110331
Option 1 ID : 264330433603
Option 2 ID : 264330433601
Option 3 ID : 264330433604
Option 4 ID : 264330433602

Status : Answered
Chosen Option : 3

Q.42 ब्रिटिश औपनिवेशिक सरकार द्वारा भरतनाट्यम पर प्रतिबंध कब लगाया गया था?

Ans 1. 1910 में

2. 1885 में

3. 1927 में

4. 1897 में

Question ID : 264330109271
Option 1 ID : 264330429364
Option 2 ID : 264330429363
Option 3 ID : 264330429362
Option 4 ID : 264330429361

Status : Not Answered
Chosen Option : --
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Q.43 खयाल के  प्रतिपादक के  रूप में, पंडित भीमसेन जोशी किस संगीत घराने से संबंधित थे?

Ans 1. आगरा

2. ग्वालियर

3. बनारस

4. किराना

Question ID : 26433064247
Option 1 ID : 264330251581
Option 2 ID : 264330251580
Option 3 ID : 264330251582
Option 4 ID : 264330251583

Status : Not Answered
Chosen Option : --

Q.44 पंडित भीमसेन जोशी हिं दुस्तानी शास्त्रीय संगीत के  किस रूप के  प्रतिपादक थे?

Ans 1. ठुमरी

2. खयाल

3. टप्पा

4. ध्रुपद

Question ID : 26433064245
Option 1 ID : 264330251574
Option 2 ID : 264330251573
Option 3 ID : 264330251575
Option 4 ID : 264330251572

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.45 दौल उत्सव मुख्यतः निम्नलिखित में से किस राज्य में मनाया जाता है?

Ans 1. महाराष्ट्र

2. असम

3. छत्तीसगढ़

4. बिहार

Question ID : 264330117935
Option 1 ID : 264330463555
Option 2 ID : 264330463558
Option 3 ID : 264330463556
Option 4 ID : 264330463557

Status : Not Answered
Chosen Option : --

Q.46 त्रिशूलगंगा ________ नदी की एक धारा है।

Ans 1. घाघरा

2. गोदावरी

3. ब्यास

4. गंडक

Question ID : 264330166802
Option 1 ID : 264330654246
Option 2 ID : 264330654244
Option 3 ID : 264330654243
Option 4 ID : 264330654245

Status : Not Answered
Chosen Option : --
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Q.47 हड़प्पा सभ्यता के  नगरों के  बारे  में दिए गए कथनों के  आधार पर सही विकल्प का चयन कीजिए।

कथन I: हड़प्पा के  अधिकांश नगर दो भागों में विभाजित थे: ऊपरी नगर और निचला नगर।
कथन II: पुरातत्वविद्, नगरों के  निचले हिस्से को गढ़ (Citadel) के  रूप में वर्णि त करते हैं।

Ans 1. के वल कथन I सत्य है ।

2. कथन I और कथन II दोनों सत्य हैं ।

3. के वल कथन II सत्य है ।

4. न तो कथन I सत्‍य है  और न ही कथन II सत्य है ।

Question ID : 264330141808
Option 1 ID : 264330555551
Option 2 ID : 264330555553
Option 3 ID : 264330555552
Option 4 ID : 264330555554

Status : Not Answered
Chosen Option : --

Q.48 निम्नलिखित में से कौन-सा उपन्यास आर. के . नारायण द्वारा लिखा गया है और इसी नाम से एक हिं दी फिल्म में
रूपांतरित भी किया गया है?

Ans 1. देवदास

2. द गाइड

3. थ्री इडियट्स

4. है लो

Question ID : 26433071710
Option 1 ID : 264330281265
Option 2 ID : 264330281264
Option 3 ID : 264330281266
Option 4 ID : 264330281267

Status : Answered
Chosen Option : 2

Q.49 वृद्ध व्यक्तियों को मोतियाबिं द हो जाने पर क्‍या हो जाता है?

Ans 1. वृद्धावस्था में व्यक्तियों का क्रिस्टलीय लेंस दू धिया और धुंधला हो जाता है

2. परितारिका धुंधली हो जाती है

3. वृद्धावस्था में व्यक्तियों का क्रिस्टलीय लेंस स्पष्ट और चमकदार हो जाता है

4. पुतली सुस्त हो जाती है

Question ID : 264330134849
Option 1 ID : 264330528333
Option 2 ID : 264330528332
Option 3 ID : 264330528334
Option 4 ID : 264330528331

Status : Answered
Chosen Option : 1
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Q.50 सदन की बैठक का पहला घंटा, जो प्रश्न पूछने और उत्तर देने के  लिए आवंटित किया जाता है, __________
कहलाता है।

Ans 1. परिनिं दा प्रस्ताव

2. शून्यकाल

3. विशेषाधिकार प्रस्ताव

4. प्रश्नकाल

Question ID : 264330130787
Option 1 ID : 264330512260
Option 2 ID : 264330512262
Option 3 ID : 264330512259
Option 4 ID : 264330512261

Status : Answered
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given
sentence.

The soldiers advanced when the bugle came.
Ans 1. when the bugle flew

2. when the bugle ran

3. when the bugle blew

4. when the bugle died

Question ID : 26433093476
Option 1 ID : 264330367131
Option 2 ID : 264330367129
Option 3 ID : 264330367130
Option 4 ID : 264330367132

Status : Answered
Chosen Option : 3

Q.2 Select the most appropriate meaning of the given idiom.
Hornet’s nest

Ans 1. Filthy and shabby appearance

2. Happy and enjoyable moments

3. A treasure full of wealth

4. Difficult and unpleasant situation

Question ID : 264330169782
Option 1 ID : 264330665819
Option 2 ID : 264330665820
Option 3 ID : 264330665822
Option 4 ID : 264330665821

Status : Answered
Chosen Option : 1

Section : English Language and Comprehension
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Q.3 Select the most appropriate ANTONYM of the given word.
Border

Ans 1. Partition

2. Centre

3. Boundary

4. Surface

Question ID : 264330168300
Option 1 ID : 264330660064
Option 2 ID : 264330660065
Option 3 ID : 264330660066
Option 4 ID : 264330660063

Status : Answered
Chosen Option : 2

Q.4 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A.On 13 January 1928, the press was presented with this scientific achievement, which
made the front pages of several major national newspapers.
B.These were all in research labs.
C.On 7 September 1927, Philo Farnsworth broadcasted the first ‘television’ system.
D.Needless to say, a straight line was not mass marketable, therefore there were only a
few dozen televisions in the globe by the end of the 1920s.

Ans 1. BDAC

2. CABD

3. BCAD

4. CADB

Question ID : 26433097522
Option 1 ID : 264330382763
Option 2 ID : 264330382762
Option 3 ID : 264330382764
Option 4 ID : 264330382761

Status : Answered
Chosen Option : 2

Q.5 Select the option that expresses the following sentence in reported (or indirect)
speech.
“Do you like your school?” asked the boy.

Ans 1. The boy asked if he likes his school.

2. The boy asked if he liked your school.

3. The boy asked if I liked my school.

4. The boy told me that he liked my school.

Question ID : 264330164345
Option 1 ID : 264330644592
Option 2 ID : 264330644591
Option 3 ID : 264330644593
Option 4 ID : 264330644594

Status : Answered
Chosen Option : 3
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Q.6 Select the most appropriate synonym of the given word.
Commotion

Ans 1. Absurd

2. Bustle

3. Issue

4. Conflict

Question ID : 264330165243
Option 1 ID : 264330648074
Option 2 ID : 264330648072
Option 3 ID : 264330648073
Option 4 ID : 264330648071

Status : Answered
Chosen Option : 2

Q.7 Select the option that can be used as a one-word substitute for the underlined words.
It was his love and goodwill to humanity that was recognised by the state government.

Ans 1. affection

2. misanthropy

3. humanism

4. philanthropy

Question ID : 264330117083
Option 1 ID : 264330460416
Option 2 ID : 264330460413
Option 3 ID : 264330460415
Option 4 ID : 264330460414

Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

Unless he has permission from his parents, he wouldn't travel alone.
Ans 1. If he had permission from his parents,

2. Unless he had permission from his parents,

3. No substitution

4. Unless he had permitted by his parents,

Question ID : 264330101028
Option 1 ID : 264330396658
Option 2 ID : 264330396657
Option 3 ID : 264330396660
Option 4 ID : 264330396659

Status : Answered
Chosen Option : 2
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Q.9 Select the most appropriate ANTONYM of the given word.
Plight

Ans 1. Trouble

2. Benefit

3. Land

4. Travel

Question ID : 264330168277
Option 1 ID : 264330659975
Option 2 ID : 264330659976
Option 3 ID : 264330659977
Option 4 ID : 264330659978

Status : Not Answered
Chosen Option : --

Q.10 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
(1) She hang up / (2) the clothes / (3) in the closet every day. / (4) No error

Ans 1. 3

2. 4

3. 2

4. 1

Question ID : 264330164336
Option 1 ID : 264330644557
Option 2 ID : 264330644558
Option 3 ID : 264330644556
Option 4 ID : 264330644555

Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate idiom to replace the underlined group of words in the
given sentence.

It was apparent that she was faking sorrow at the death of her stepdaughter.
Ans 1. shedding crocodile tears

2. calling a spade, a spade

3. biting her own tongue

4. cutting mustard

Question ID : 264330122277
Option 1 ID : 264330479237
Option 2 ID : 264330479235
Option 3 ID : 264330479236
Option 4 ID : 264330479238

Status : Answered
Chosen Option : 1
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Q.12 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
I have been calling him from many days.

Ans 1. of

2. about

3. since

4. for

Question ID : 264330117255
Option 1 ID : 264330461079
Option 2 ID : 264330461080
Option 3 ID : 264330461078
Option 4 ID : 264330461077

Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate ANTONYM of the given word.
Zenith

Ans 1. Summit

2. Bottom

3. Astonishment

4. Heaviness

Question ID : 264330168279
Option 1 ID : 264330659983
Option 2 ID : 264330659984
Option 3 ID : 264330659986
Option 4 ID : 264330659985

Status : Answered
Chosen Option : 2

Q.14 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. The expansion of education in English, the language of modern science, during
British rule was extremely beneficial to Indian science.
B. The creation of three universities in Calcutta, Bombay, and Madras in 1857 gave the
study of science a boost.
C. The first scientific research facility was established in Calcutta in 1876 by a wealthy
doctor, Mahendra Lal Sircar. It was called the Indian organisation for the growth of
science.
D. It quickly began to dominate scientific endeavours in India before independence.

Ans 1. ADBC

2. ACDB

3. ABDC

4. ABCD

Question ID : 26433098148
Option 1 ID : 264330385248
Option 2 ID : 264330385245
Option 3 ID : 264330385246
Option 4 ID : 264330385247

Status : Answered
Chosen Option : 4
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Q.15 Select the most appropriate synonym of the underlined word in the following
sentence.
She wore a whimsical dress adorned with colourful patterns.

Ans 1. Tragic

2. Weird

3. Fashionable

4. Sensible

Question ID : 264330168123
Option 1 ID : 264330659372
Option 2 ID : 264330659371
Option 3 ID : 264330659374
Option 4 ID : 264330659373

Status : Answered
Chosen Option : 2

Q.16 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

Not only the manager give me a refund, but he also offered me a 50% discount on my
next meal.

Ans 1. Not only do the manager give me a refund,

2. Not only did the manager give me a refund,

3. Not only did the manager gave me a refund,

4. No substitution

Question ID : 264330101027
Option 1 ID : 264330396653
Option 2 ID : 264330396655
Option 3 ID : 264330396654
Option 4 ID : 264330396656

Status : Answered
Chosen Option : 2

Q.17 Select the option that expresses the given sentence in passive voice.

Katrina repaired the cycle herself.
Ans 1. Katrina was repaired by the cycle herself.

2. The cycle repaired Katrina herself.

3. Katrina herself was repairing the cycle.

4. The cycle was repaired by Katrina herself.

Question ID : 264330164595
Option 1 ID : 264330645565
Option 2 ID : 264330645563
Option 3 ID : 264330645564
Option 4 ID : 264330645566

Status : Answered
Chosen Option : 4
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Q.18 Select the option that expresses the given sentence in reported speech.
Mrs. Batra said, “My son wants to study Architecture.”

Ans 1. Mrs. Batra said that her son wanted to study Architecture.

2. Mrs. Batra said that her son went to study Architecture.

3. Mrs. Batra said that her son want to study Architecture.

4. Mrs. Batra said that her son wanting to study Architecture.

Question ID : 264330139317
Option 1 ID : 264330545761
Option 2 ID : 264330545762
Option 3 ID : 264330545760
Option 4 ID : 264330545759

Status : Answered
Chosen Option : 1

Q.19 Select the option that expresses the given sentence in indirect speech.
My music teacher said to me, “You sing beautifully.”

Ans 1. My music teacher told me that I sang beautifully.

2. My music teacher told me that I have sung beautifully.

3. My music teacher told me that I was singing beautifully.

4. My music teacher told me that I had sung beautifully.

Question ID : 26433059462
Option 1 ID : 264330232718
Option 2 ID : 264330232719
Option 3 ID : 264330232716
Option 4 ID : 264330232717

Status : Answered
Chosen Option : 1

Q.20 Select the option that expresses the given sentence in passive voice.
Alisha posted the picture online.

Ans 1. The picture is posted online by Alisha.

2. The picture was posted online by Alisha.

3. The picture has been posted online by Alisha.

4. The picture is being posted online by Alisha.

Question ID : 264330168329
Option 1 ID : 264330660179
Option 2 ID : 264330660182
Option 3 ID : 264330660180
Option 4 ID : 264330660181

Status : Answered
Chosen Option : 2
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Q.21 Select the most appropriate ANTONYM of the bracketed word in the following
sentence to fill in the blank.

The meadow was a ________ (wild) site, far removed from the main roads and present-
day habitation.

Ans 1. tranquil

2. enraged

3. frantic

4. strong

Question ID : 264330163508
Option 1 ID : 264330641294
Option 2 ID : 264330641292
Option 3 ID : 264330641291
Option 4 ID : 264330641293

Status : Answered
Chosen Option : 1

Q.22 Select the most appropriate synonym of the given word.
Modest

Ans 1. Demure

2. Lucid

3. Arrogant

4. Petty

Question ID : 264330137240
Option 1 ID : 264330537593
Option 2 ID : 264330537592
Option 3 ID : 264330537594
Option 4 ID : 264330537591

Status : Answered
Chosen Option : 4

Q.23 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. Even getting what they want doesn’t satisfy some kids; they only want more.
B. Too many parents these days can’t say no.
C. The struggle to set limits has never been tougher—and the stakes have never been
higher.
D. As a result, they find themselves raising children who respond greedily to the
advertisements aimed right at them.

Ans 1. CABD

2. BDCA

3. CDBA

4. BDAC

Question ID : 26433098959
Option 1 ID : 264330388487
Option 2 ID : 264330388488
Option 3 ID : 264330388486
Option 4 ID : 264330388485

Status : Answered
Chosen Option : 4
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Q.24 Parts of the following sentence have been given as options. Select the option that
contains an error.
I couldn’t hear your voice as you were too far out from me.

Ans 1. I couldn’t hear

2. far out from me

3. your voice as

4. you were too

Question ID : 264330134128
Option 1 ID : 264330525535
Option 2 ID : 264330525538
Option 3 ID : 264330525536
Option 4 ID : 264330525537

Status : Answered
Chosen Option : 2

Q.25 Select the option that expresses the given sentence in direct speech.
The clerk requested the manager to sanction his leave.

Ans 1. The clerk said to the manager, “Do you sanction leave?”

2. The clerk said to the manager, “Please sanction my leave”.

3. The clerk informed the manager, “Please sanction my leave”.

4. The clerk said to the manager, “Sanction leave”.

Question ID : 264330139160
Option 1 ID : 264330545218
Option 2 ID : 264330545215
Option 3 ID : 264330545216
Option 4 ID : 264330545217

Status : Answered
Chosen Option : 2

Q.26 Select the option that expresses the given sentence in passive voice.
The management promoted four employees.

Ans 1. Four employees are promoted by the management.

2. Four employees were promoted by the management.

3. Four employees have promoted by the management.

4. Four employees have been promoted by the management.

Question ID : 264330164360
Option 1 ID : 264330644652
Option 2 ID : 264330644651
Option 3 ID : 264330644653
Option 4 ID : 264330644654

Status : Answered
Chosen Option : 2
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Q.27 Select the most appropriate synonym of the bracketed word in the following sentence
to fill in the blank.

The new student hails from the ________ societies of the Eastern India. (affluent)
Ans 1. clever

2. harmless

3. wealthy

4. famous

Question ID : 264330163273
Option 1 ID : 264330640406
Option 2 ID : 264330640404
Option 3 ID : 264330640405
Option 4 ID : 264330640403

Status : Answered
Chosen Option : 3

Q.28 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Bikanervala is a restaurant / chain in India / that is now famous / all ahead the world.
Ans 1. all ahead the world.

2. that is now famous

3. chain in India

4. Bikanervala is a restaurant

Question ID : 26433096143
Option 1 ID : 264330377344
Option 2 ID : 264330377343
Option 3 ID : 264330377342
Option 4 ID : 264330377341

Status : Answered
Chosen Option : 1

Q.29 Sentences of a paragraph are given below. While the first and the last sentences (S1
and S6) are in the correct order, the sentences in between are jumbled up. Arrange the
sentences in the correct order to form a meaningful and coherent paragraph.

S1. We are living in the era of information and communication.
A.Though information and knowledge are different, people with much information are
considered knowledgeable.
B.So, English language communication skills are indispensable for any job aspirant.
C.To transfer information, the language widely used in today’s world is English.
D.Employers are not compromising with English communication skills of the
employees.
S6. What is strongly believed to be true is that English skills can be of great help when
professionals are dealing with different nationalities.

Ans 1. ACBD

2. ADCB

3. CABD

4. BCDA 

Question ID : 26433063632
Option 1 ID : 264330249144
Option 2 ID : 264330249147
Option 3 ID : 264330249145
Option 4 ID : 264330249146

Status : Answered
Chosen Option : 3
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Q.30 Select the most appropriate option to substitute the underlined segment in the given
sentence.
When you will be award for your achievements?

Ans 1. you will be awarded

2. will you award

3. will you be awarded

4. will you be award

Question ID : 264330100294
Option 1 ID : 264330393741
Option 2 ID : 264330393744
Option 3 ID : 264330393742
Option 4 ID : 264330393743

Status : Answered
Chosen Option : 3

Q.31 Select the most appropriate option to fill in the blank.

The teacher ___________ everything at the end of the class.
Ans 1. usurps

2. recapitulates

3. deceives

4. quenches

Question ID : 264330164614
Option 1 ID : 264330645640
Option 2 ID : 264330645642
Option 3 ID : 264330645641
Option 4 ID : 264330645639

Status : Not Answered
Chosen Option : --

Q.32 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

He had been improve / his communication skills in order / to shine in his career.
Ans 1. his communication skills in order

2. He had been improve

3. to shine in his career

4. No error

Question ID : 26433089019
Option 1 ID : 264330349614
Option 2 ID : 264330349613
Option 3 ID : 264330349615
Option 4 ID : 264330349616

Status : Answered
Chosen Option : 2
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Q.33 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.
After working for the entire week we usually go out to eat on Sundays.

Ans 1. at Sunday

2. at Sundays

3. on Sunday

4. No substitution required

Question ID : 264330100306
Option 1 ID : 264330393789
Option 2 ID : 264330393790
Option 3 ID : 264330393791
Option 4 ID : 264330393792

Status : Answered
Chosen Option : 3

Q.34 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
You will not invited / to any function / by them / if you don’t attend the marriage.

Ans 1. You will not invited

2. if you don’t attend the marriage

3. to any function

4. by them

Question ID : 264330132811
Option 1 ID : 264330520331
Option 2 ID : 264330520334
Option 3 ID : 264330520332
Option 4 ID : 264330520333

Status : Answered
Chosen Option : 1

Q.35 Select the option that expresses the given sentence in passive voice.
They asked me my name.

Ans 1. I was asked my name.

2. I was asked by them of my name.

3. My name was asked from me.

4. My name is asked by them.

Question ID : 264330137197
Option 1 ID : 264330537433
Option 2 ID : 264330537434
Option 3 ID : 264330537432
Option 4 ID : 264330537431

Status : Answered
Chosen Option : 2
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Q.36 Select the most appropriate meaning of the underlined idiom.
It turned out to be a wild-goose chase for the police.

Ans 1. Engage patiently

2. Fruitful pursuit or search

3. Fruitless pursuit or search

4. Hastily jump to conclusions

Question ID : 264330164278
Option 1 ID : 264330644336
Option 2 ID : 264330644337
Option 3 ID : 264330644335
Option 4 ID : 264330644338

Status : Answered
Chosen Option : 3

Q.37 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. Before a man could even construct a home for himself or weave clothing to protect
his body, he was creative instinctively.
B. Many researchers have done studies to know more about pre historic times.
C. He made use of a sharp stone. Unaware of it, civilisation had started in a unique
way.
D. On the cave walls, man penned, or more accurately scratched rudimentary images.

Ans 1. ABCD

2. BADC

3. CBDA

4. DBAC

Question ID : 26433098146
Option 1 ID : 264330385238
Option 2 ID : 264330385237
Option 3 ID : 264330385239
Option 4 ID : 264330385240

Status : Answered
Chosen Option : 2

Q.38 Select the most appropriate ANTONYM of the given word.
Jubilant

Ans 1. Despondent

2. Thrilled

3. Static

4. Inflated

Question ID : 264330168140
Option 1 ID : 264330659438
Option 2 ID : 264330659435
Option 3 ID : 264330659437
Option 4 ID : 264330659436

Status : Answered
Chosen Option : 1

 
      

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.39 Select the most appropriate synonym of the underlined word in the following
sentence.
The professor’s lecture was filled with profound insights on the subject matter.

Ans 1. Shallow

2. Deep

3. Superficial

4. Accidental

Question ID : 264330164641
Option 1 ID : 264330645743
Option 2 ID : 264330645744
Option 3 ID : 264330645746
Option 4 ID : 264330645745

Status : Answered
Chosen Option : 2

Q.40 Parts of a sentence/paragraph are given below. While the first and the last parts (A and
F) are in the correct order, the parts in between are jumbled up. Arrange the parts in
the correct order to form a meaningful and coherent sentence/paragraph.

A.If you complete one of your assignments early
B.do not work on any other assignment
C.go back through that assignment only
D.if you are found working on another assignment
E.this is not permitted
F.Your contract will be terminated .

Ans 1. C, D, E, B

2. B, C, D, E

3. E, B, C, D

4. C, B, E, D

Question ID : 26433099084
Option 1 ID : 264330388972
Option 2 ID : 264330388969
Option 3 ID : 264330388971
Option 4 ID : 264330388970

Status : Answered
Chosen Option : 4

Q.41 Select the most appropriate meaning of the given idiom.
In the blink of an eye

Ans 1. Do something dangerous out of excitement

2. In an extremely short time

3. Make someone confused

4. Become very confused

Question ID : 264330132894
Option 1 ID : 264330520637
Option 2 ID : 264330520638
Option 3 ID : 264330520636
Option 4 ID : 264330520635

Status : Answered
Chosen Option : 2
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Q.42 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.
Swetha seldom waters the plants, isn’t it?

Ans 1. doesn’t it

2. does she

3. is she

4. No substitution

Question ID : 264330132983
Option 1 ID : 264330520991
Option 2 ID : 264330520992
Option 3 ID : 264330520993
Option 4 ID : 264330520994

Status : Answered
Chosen Option : 2

Q.43 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. The task of feeding the brood is left to the lady birds.
B. The birds arrive and choose their nest after careful inspection.
C. They pick the location and begin weaving their bottle-shaped nests out of coarse
grass and paddy leaves.
D. Male birds serve as the principal architects and craftsman in the colony of weaver
birds.

Ans 1. DCBA

2. ABCD

3. CDAB

4. BACD

Question ID : 26433098154
Option 1 ID : 264330385271
Option 2 ID : 264330385269
Option 3 ID : 264330385270
Option 4 ID : 264330385272

Status : Answered
Chosen Option : 1

Q.44 Select the most appropriate meaning of the given idiom.
Still waters run deep

Ans 1. To have passion or great intelligence underneath a calm expression

2. Desperate measures made in order to come out of a difficult situation

3. A very serious situation

4. To be confused or not understand something

Question ID : 264330165265
Option 1 ID : 264330648153
Option 2 ID : 264330648151
Option 3 ID : 264330648154
Option 4 ID : 264330648152

Status : Answered
Chosen Option : 1
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Q.45 Select the option that expresses the given sentence in active voice.
His gold ornaments were stolen by a thief.

Ans 1. A thief stole his gold ornaments.

2. A thief had stolen his gold ornaments.

3. A thief has stolen his gold ornaments.

4. A thief have stolen his gold ornaments.

Question ID : 264330164356
Option 1 ID : 264330644635
Option 2 ID : 264330644638
Option 3 ID : 264330644636
Option 4 ID : 264330644637

Status : Answered
Chosen Option : 1

Q.46 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Extraordinary students are controlled thinkers and creators who learn best when their
training is dynamic, approachable and project-based.

Ans 1. subjective thinkers and creator

2. biased thinkers and creator

3. liable thinker and creators

4. independent thinkers and creators

Question ID : 26433096162
Option 1 ID : 264330377420
Option 2 ID : 264330377419
Option 3 ID : 264330377417
Option 4 ID : 264330377418

Status : Answered
Chosen Option : 4

Q.47 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

They / was / reading / a notice.
Ans 1. reading

2. a notice

3. was

4. They

Question ID : 26433094744
Option 1 ID : 264330371811
Option 2 ID : 264330371812
Option 3 ID : 264330371810
Option 4 ID : 264330371809

Status : Answered
Chosen Option : 3
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Q.48 Select the option that expresses the following sentence in active voice.
The melody has been composed wonderfully by Kayra.

Ans 1. Kayra had composed the melody wonderfully.

2. Kayra wonderfully composed the melody.

3. Kayra has been composing the melody wonderfully.

4. Kayra has composed the melody wonderfully.

Question ID : 264330164320
Option 1 ID : 264330644495
Option 2 ID : 264330644496
Option 3 ID : 264330644497
Option 4 ID : 264330644498

Status : Answered
Chosen Option : 4

Q.49 Select the option that expresses the given sentence in passive voice.
How can Sameer do silly mistakes in the office?

Ans 1. How silly mistakes could have done by Sameer in the office?

2. How silly mistakes could be done by Sameer in the office?

3. How can silly mistakes be done by Sameer in the office?

4. How silly mistakes are done by Sameer in the office?

Question ID : 264330164621
Option 1 ID : 264330645666
Option 2 ID : 264330645663
Option 3 ID : 264330645665
Option 4 ID : 264330645664

Status : Answered
Chosen Option : 2

Q.50 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Are you sure that / you will be broadcast / the news to everyone / across the country?

Ans 1. the news to everyone

2. Are you sure that

3. across the country

4. you will be broadcast

Question ID : 264330133411
Option 1 ID : 264330522677
Option 2 ID : 264330522675
Option 3 ID : 264330522678
Option 4 ID : 264330522676

Status : Answered
Chosen Option : 4
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Q.51 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
Nobody knew Ramesh was coming to see us. He arrived suddenly.

Ans 1. unexpectedly

2. safely

3. happily

4. angrily

Question ID : 264330120555
Option 1 ID : 264330472466
Option 2 ID : 264330472465
Option 3 ID : 264330472463
Option 4 ID : 264330472464

Status : Answered
Chosen Option : 1

Q.52 Select the option that expresses the given sentence in active voice.
In Japan, thousands of people were killed in the tsunami last week.

Ans 1. The tsunami have killed thousands of people in Japan last week.

2. The tsunami had killed thousands of people last week in Japan.

3. The tsunami has killed thousands of people last week in Japan.

4. The tsunami last week killed thousands of people in Japan.

Question ID : 264330120580
Option 1 ID : 264330472566
Option 2 ID : 264330472564
Option 3 ID : 264330472565
Option 4 ID : 264330472563

Status : Answered
Chosen Option : 4

Q.53 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Don’t let the failure / demotivate you as / failures are the / stepping stones to success.

Ans 1. stepping stones to success

2. Don’t let the failure

3. demotivate you as

4. failures are the

Question ID : 264330137225
Option 1 ID : 264330537534
Option 2 ID : 264330537531
Option 3 ID : 264330537532
Option 4 ID : 264330537533

Status : Not Answered
Chosen Option : --
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Q.54 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
The coach believed that / his team were not / playing to its potential / in the
tournament.

Ans 1. his team were not

2. playing to its potential

3. in the tournament

4. The coach believed that

Question ID : 264330139097
Option 1 ID : 264330544996
Option 2 ID : 264330544997
Option 3 ID : 264330544998
Option 4 ID : 264330544995

Status : Answered
Chosen Option : 1

Q.55 Select the most appropriate option to fill in the blank.

Yoga increases physical and mental vitality, __________ to sickness, and overall well-
being.

Ans 1. competence

2. resistance

3. acceptance

4. assistance

Question ID : 26433098918
Option 1 ID : 264330388326
Option 2 ID : 264330388328
Option 3 ID : 264330388327
Option 4 ID : 264330388325

Status : Answered
Chosen Option : 1

Q.56 Select the option that expresses the following sentence in reported (or indirect)
speech.
They said, “We will come home this evening.”

Ans 1. They said that they would come home that evening.

2. They said that they would come be coming home that evening.

3. They said that they would be coming home this evening.

4. They said that they will come home that evening.

Question ID : 264330164347
Option 1 ID : 264330644600
Option 2 ID : 264330644602
Option 3 ID : 264330644599
Option 4 ID : 264330644601

Status : Answered
Chosen Option : 1
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Q.57 Select the option that changes the form of narration in the following sentence.

My father said, “Change is the only constant in life.”
Ans 1. My father said that change is the only constant in life.

2. My father said that change was the only constant in life.

3. My father advised that change had been the only constant in life.

4. My father had said that change was the only constant in life.

Question ID : 264330163265
Option 1 ID : 264330640374
Option 2 ID : 264330640371
Option 3 ID : 264330640372
Option 4 ID : 264330640373

Status : Answered
Chosen Option : 1

Q.58 Select the most appropriate option to complete the idiom in the given sentence.
I have been ________ over the two options in my head and I think we should go with
the first one.

Ans 1. looking

2. seeing

3. obsessing

4. mulling

Question ID : 264330165266
Option 1 ID : 264330648155
Option 2 ID : 264330648156
Option 3 ID : 264330648157
Option 4 ID : 264330648158

Status : Answered
Chosen Option : 4

Q.59 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.
The corner of the street where my family lived is surround by investigators.

Ans 1. where my family lives is surround by investigators

2. where my family live was surrounded by investigators

3. where my family lives is surrounded by investigators

4. No substitution required

Question ID : 264330117053
Option 1 ID : 264330460295
Option 2 ID : 264330460293
Option 3 ID : 264330460294
Option 4 ID : 264330460296

Status : Answered
Chosen Option : 3
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Q.60 Select the option that expresses the given sentence in direct speech.
The teacher said that if we studied hard, we would do well in the exam and that she
would be proud of us.

Ans 1. “If you study hard, you will do well in the exam, and I will be proud of you, ” said the
teacher.

2. “I will be proud of you if you study hard and do well on the exam, ” said the teacher.

3. “If you studied hard, you would do well on the exam, and I would be proud of you, ”
said the teacher.

4. “If we studied hard, we would do well on the exam, and the teacher would be proud of
us, ” said the teacher.

Question ID : 264330165107
Option 1 ID : 264330647555
Option 2 ID : 264330647556
Option 3 ID : 264330647557
Option 4 ID : 264330647558

Status : Answered
Chosen Option : 1

Q.61 Select the most appropriate option to fill in the blank.

Turn the lights ______, I want to go to sleep.
Ans 1. off

2. up

3. on

4. down

Question ID : 26433098898
Option 1 ID : 264330388246
Option 2 ID : 264330388248
Option 3 ID : 264330388245
Option 4 ID : 264330388247

Status : Answered
Chosen Option : 1

Q.62 Select the most appropriate ANTONYM of the underlined word in the following
sentence.
The spirit of the room was very gloomy in his absence.

Ans 1. Lonely

2. Grim

3. Cheerful

4. Cloudy

Question ID : 264330164306
Option 1 ID : 264330644442
Option 2 ID : 264330644440
Option 3 ID : 264330644441
Option 4 ID : 264330644439

Status : Answered
Chosen Option : 3
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Q.63 Select the option that expresses the given sentence in indirect speech.
Donny said, “I can swim fast.”

Ans 1. Donny said that she could not swim fast.

2. Donny said that she had swum fast.

3. Donny said that she will swim fast.

4. Donny said that she could swim fast.

Question ID : 264330164267
Option 1 ID : 264330644291
Option 2 ID : 264330644294
Option 3 ID : 264330644292
Option 4 ID : 264330644293

Status : Answered
Chosen Option : 4

Q.64 Select the option that expresses the given sentence in passive voice.

The police had collected the primary evidence before they arrested the culprit.
Ans 1. The primary evidence was collected by the police before the culprit was arrested.

2. The primary evidence had been collected by the police before the culprit was
arrested.

3. The primary evidence might have been collected by the police before the culprit was
arrested.

4. The primary evidence had collected by the police before the culprit was arrested.

Question ID : 264330136444
Option 1 ID : 264330534535
Option 2 ID : 264330534537
Option 3 ID : 264330534536
Option 4 ID : 264330534538

Status : Answered
Chosen Option : 2

Q.65 Select the correct direct narration of the given sentence.
Ramu requested her to wait there till he returned.

Ans 1. Ramu says to her, “Please wait here till he return”.

2. Ramu say to her, “Please wait here till he returns”.

3. Ramu said to her, “Please wait here till I return”.

4. Ramu say to her, “Please wait here till I return”.

Question ID : 264330132880
Option 1 ID : 264330520588
Option 2 ID : 264330520590
Option 3 ID : 264330520589
Option 4 ID : 264330520587

Status : Answered
Chosen Option : 3
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
A (1)________ is a type of attack in which an attacker attempts to gain access to a user's
sensitive information by posing as a trustworthy entity. Phishing attacks can take many forms,
including email, text message, or phone call scams. To protect against phishing attacks, it's
important to be (2)________ of the warning signs, such as requests for personal information
or suspicious links. Other strategies include using anti-phishing software and staying up-to-
date on the latest (3)________. If you suspect that you've fallen victim to a phishing attack,
it's important to take (4)________ as soon as possible. Despite the risks associated with
phishing, many people continue to fall prey to these scams, underscoring the importance of
(5)________ and caution when using the internet.

SubQuestion No : 66
Q.66 Select the most appropriate option to fill in blank 1.
Ans 1. virus

2. firewall

3. spam

4. phishing

Question ID : 264330166366
Option 1 ID : 264330652519
Option 2 ID : 264330652520
Option 3 ID : 264330652521
Option 4 ID : 264330652522

Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
A (1)________ is a type of attack in which an attacker attempts to gain access to a user's
sensitive information by posing as a trustworthy entity. Phishing attacks can take many forms,
including email, text message, or phone call scams. To protect against phishing attacks, it's
important to be (2)________ of the warning signs, such as requests for personal information
or suspicious links. Other strategies include using anti-phishing software and staying up-to-
date on the latest (3)________. If you suspect that you've fallen victim to a phishing attack,
it's important to take (4)________ as soon as possible. Despite the risks associated with
phishing, many people continue to fall prey to these scams, underscoring the importance of
(5)________ and caution when using the internet.

SubQuestion No : 67
Q.67 Select the most appropriate option to fill in blank 2.
Ans 1. indifferent

2. aware

3. doubtful

4. negligent

Question ID : 264330166367
Option 1 ID : 264330652526
Option 2 ID : 264330652523
Option 3 ID : 264330652525
Option 4 ID : 264330652524

Status : Answered
Chosen Option : 2
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
A (1)________ is a type of attack in which an attacker attempts to gain access to a user's
sensitive information by posing as a trustworthy entity. Phishing attacks can take many forms,
including email, text message, or phone call scams. To protect against phishing attacks, it's
important to be (2)________ of the warning signs, such as requests for personal information
or suspicious links. Other strategies include using anti-phishing software and staying up-to-
date on the latest (3)________. If you suspect that you've fallen victim to a phishing attack,
it's important to take (4)________ as soon as possible. Despite the risks associated with
phishing, many people continue to fall prey to these scams, underscoring the importance of
(5)________ and caution when using the internet.

SubQuestion No : 68
Q.68 Select the most appropriate option to fill in blank 3.
Ans 1. updates

2. patches

3. vulnerabilities

4. bugs

Question ID : 264330166368
Option 1 ID : 264330652530
Option 2 ID : 264330652529
Option 3 ID : 264330652527
Option 4 ID : 264330652528

Status : Answered
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
A (1)________ is a type of attack in which an attacker attempts to gain access to a user's
sensitive information by posing as a trustworthy entity. Phishing attacks can take many forms,
including email, text message, or phone call scams. To protect against phishing attacks, it's
important to be (2)________ of the warning signs, such as requests for personal information
or suspicious links. Other strategies include using anti-phishing software and staying up-to-
date on the latest (3)________. If you suspect that you've fallen victim to a phishing attack,
it's important to take (4)________ as soon as possible. Despite the risks associated with
phishing, many people continue to fall prey to these scams, underscoring the importance of
(5)________ and caution when using the internet.

SubQuestion No : 69
Q.69 Select the most appropriate option to fill in blank 4.
Ans 1. risks

2. disadvantages

3. advantages

4. measures

Question ID : 264330166369
Option 1 ID : 264330652531
Option 2 ID : 264330652534
Option 3 ID : 264330652533
Option 4 ID : 264330652532

Status : Answered
Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
A (1)________ is a type of attack in which an attacker attempts to gain access to a user's
sensitive information by posing as a trustworthy entity. Phishing attacks can take many forms,
including email, text message, or phone call scams. To protect against phishing attacks, it's
important to be (2)________ of the warning signs, such as requests for personal information
or suspicious links. Other strategies include using anti-phishing software and staying up-to-
date on the latest (3)________. If you suspect that you've fallen victim to a phishing attack,
it's important to take (4)________ as soon as possible. Despite the risks associated with
phishing, many people continue to fall prey to these scams, underscoring the importance of
(5)________ and caution when using the internet.

SubQuestion No : 70
Q.70 Select the most appropriate option to fill in blank 5.
Ans 1. vigilance

2. scepticism

3. complacency

4. curiosity

Question ID : 264330166370
Option 1 ID : 264330652538
Option 2 ID : 264330652535
Option 3 ID : 264330652537
Option 4 ID : 264330652536

Status : Not Answered
Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A man is not bad (1)_______ birth but circumstances make him bad. He was a kind man and
wanted to join a (2)________ circus. His ambition was not fulfilled (3)_______ his parents did
not agree. He held his family and society (4)________ for the frustration of his dreams.
Therefore, he became (5)_______ with everyone.

SubQuestion No : 71
Q.71 Select the most appropriate option to fill in blank 1.
Ans 1. at

2. for

3. by

4. from

Question ID : 264330167891
Option 1 ID : 264330658491
Option 2 ID : 264330658494
Option 3 ID : 264330658493
Option 4 ID : 264330658492

Status : Answered
Chosen Option : 3
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A man is not bad (1)_______ birth but circumstances make him bad. He was a kind man and
wanted to join a (2)________ circus. His ambition was not fulfilled (3)_______ his parents did
not agree. He held his family and society (4)________ for the frustration of his dreams.
Therefore, he became (5)_______ with everyone.

SubQuestion No : 72
Q.72 Select the most appropriate option to fill in blank 2.
Ans 1. furnishing

2. travelling

3. rescuing

4. tour

Question ID : 264330167892
Option 1 ID : 264330658496
Option 2 ID : 264330658498
Option 3 ID : 264330658497
Option 4 ID : 264330658495

Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A man is not bad (1)_______ birth but circumstances make him bad. He was a kind man and
wanted to join a (2)________ circus. His ambition was not fulfilled (3)_______ his parents did
not agree. He held his family and society (4)________ for the frustration of his dreams.
Therefore, he became (5)_______ with everyone.

SubQuestion No : 73
Q.73 Select the most appropriate option to fill in blank 3.
Ans 1. as

2. any

3. while

4. thus

Question ID : 264330167893
Option 1 ID : 264330658500
Option 2 ID : 264330658502
Option 3 ID : 264330658501
Option 4 ID : 264330658499

Status : Answered
Chosen Option : 1
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A man is not bad (1)_______ birth but circumstances make him bad. He was a kind man and
wanted to join a (2)________ circus. His ambition was not fulfilled (3)_______ his parents did
not agree. He held his family and society (4)________ for the frustration of his dreams.
Therefore, he became (5)_______ with everyone.

SubQuestion No : 74
Q.74 Select the most appropriate option to fill in blank 4.
Ans 1. noteworthy

2. responsible

3. righteous

4. abiding

Question ID : 264330167894
Option 1 ID : 264330658505
Option 2 ID : 264330658504
Option 3 ID : 264330658506
Option 4 ID : 264330658503

Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A man is not bad (1)_______ birth but circumstances make him bad. He was a kind man and
wanted to join a (2)________ circus. His ambition was not fulfilled (3)_______ his parents did
not agree. He held his family and society (4)________ for the frustration of his dreams.
Therefore, he became (5)_______ with everyone.

SubQuestion No : 75
Q.75 Select the most appropriate option to fill in blank 5.
Ans 1. sociable

2. amiable

3. aloof

4. inimical

Question ID : 264330167895
Option 1 ID : 264330658508
Option 2 ID : 264330658507
Option 3 ID : 264330658509
Option 4 ID : 264330658510

Status : Answered
Chosen Option : 3
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The expansive (1) __________stretched as far as the eye could see, its vastness seeming
endless. Majestic mountains towered in the distance, their peaks (2)__________ by a thin
layer of snow. A gentle breeze whispered through the (3)__________ trees, rustling their
vibrant leaves. The air (4)_______ the sweet fragrance of the flowers, filling the surroundings
with a delightful aroma. As the sun began to set, the sky transformed into a radiant canvas,
painted with (5)______ of orange, pink, and gold.

SubQuestion No : 76
Q.76 Select the most appropriate option to fill in blank no. 1.
Ans 1. sea

2. park

3. desert

4. landscape

Question ID : 264330169753
Option 1 ID : 264330665707
Option 2 ID : 264330665710
Option 3 ID : 264330665708
Option 4 ID : 264330665709

Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The expansive (1) __________stretched as far as the eye could see, its vastness seeming
endless. Majestic mountains towered in the distance, their peaks (2)__________ by a thin
layer of snow. A gentle breeze whispered through the (3)__________ trees, rustling their
vibrant leaves. The air (4)_______ the sweet fragrance of the flowers, filling the surroundings
with a delightful aroma. As the sun began to set, the sky transformed into a radiant canvas,
painted with (5)______ of orange, pink, and gold.

SubQuestion No : 77
Q.77 Select the most appropriate option to fill in blank no. 2.
Ans 1. spread

2. filled

3. covered

4. piled

Question ID : 264330169754
Option 1 ID : 264330665713
Option 2 ID : 264330665712
Option 3 ID : 264330665711
Option 4 ID : 264330665714

Status : Answered
Chosen Option : 3
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The expansive (1) __________stretched as far as the eye could see, its vastness seeming
endless. Majestic mountains towered in the distance, their peaks (2)__________ by a thin
layer of snow. A gentle breeze whispered through the (3)__________ trees, rustling their
vibrant leaves. The air (4)_______ the sweet fragrance of the flowers, filling the surroundings
with a delightful aroma. As the sun began to set, the sky transformed into a radiant canvas,
painted with (5)______ of orange, pink, and gold.

SubQuestion No : 78
Q.78 Select the most appropriate option to fill in blank no. 3.
Ans 1. withered

2. shrivelled

3. shrinking

4. lustrous

Question ID : 264330169755
Option 1 ID : 264330665716
Option 2 ID : 264330665715
Option 3 ID : 264330665717
Option 4 ID : 264330665718

Status : Not Answered
Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The expansive (1) __________stretched as far as the eye could see, its vastness seeming
endless. Majestic mountains towered in the distance, their peaks (2)__________ by a thin
layer of snow. A gentle breeze whispered through the (3)__________ trees, rustling their
vibrant leaves. The air (4)_______ the sweet fragrance of the flowers, filling the surroundings
with a delightful aroma. As the sun began to set, the sky transformed into a radiant canvas,
painted with (5)______ of orange, pink, and gold.

SubQuestion No : 79
Q.79 Select the most appropriate option to fill in blank no. 4.
Ans 1. pushed

2. flung

3. threw

4. carried

Question ID : 264330169756
Option 1 ID : 264330665721
Option 2 ID : 264330665722
Option 3 ID : 264330665720
Option 4 ID : 264330665719

Status : Answered
Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The expansive (1) __________stretched as far as the eye could see, its vastness seeming
endless. Majestic mountains towered in the distance, their peaks (2)__________ by a thin
layer of snow. A gentle breeze whispered through the (3)__________ trees, rustling their
vibrant leaves. The air (4)_______ the sweet fragrance of the flowers, filling the surroundings
with a delightful aroma. As the sun began to set, the sky transformed into a radiant canvas,
painted with (5)______ of orange, pink, and gold.

SubQuestion No : 80
Q.80 Select the most appropriate option to fill in blank no. 5.
Ans 1. tins

2. brushes

3. sheets

4. hues

Question ID : 264330169757
Option 1 ID : 264330665725
Option 2 ID : 264330665723
Option 3 ID : 264330665726
Option 4 ID : 264330665724

Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The (1)__________ traveller embarked on an exciting (2)__________ through uncharted
lands, seeking adventure and discovery. Armed (3)_____ a tattered map and a curious spirit,
he ventured into the dense forest, where the air was thick with the (4)__________ of wildlife
that echoed through the trees. The path ahead was obscured by overgrown vegetation and
tangled roots, challenging his every step. With unwavering (5)___________, he pushed
forward, drawn by the allure of the unknown.

SubQuestion No : 81
Q.81 Select the most appropriate option to fill in blank no. 1.
Ans 1. worried

2. adventurous

3. lazy

4. sleepy

Question ID : 264330169759
Option 1 ID : 264330665730
Option 2 ID : 264330665729
Option 3 ID : 264330665727
Option 4 ID : 264330665728

Status : Answered
Chosen Option : 2
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The (1)__________ traveller embarked on an exciting (2)__________ through uncharted
lands, seeking adventure and discovery. Armed (3)_____ a tattered map and a curious spirit,
he ventured into the dense forest, where the air was thick with the (4)__________ of wildlife
that echoed through the trees. The path ahead was obscured by overgrown vegetation and
tangled roots, challenging his every step. With unwavering (5)___________, he pushed
forward, drawn by the allure of the unknown.

SubQuestion No : 82
Q.82 Select the most appropriate option to fill in blank no. 2.
Ans 1. swim

2. journey

3. visit

4. walk

Question ID : 264330169760
Option 1 ID : 264330665733
Option 2 ID : 264330665731
Option 3 ID : 264330665734
Option 4 ID : 264330665732

Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The (1)__________ traveller embarked on an exciting (2)__________ through uncharted
lands, seeking adventure and discovery. Armed (3)_____ a tattered map and a curious spirit,
he ventured into the dense forest, where the air was thick with the (4)__________ of wildlife
that echoed through the trees. The path ahead was obscured by overgrown vegetation and
tangled roots, challenging his every step. With unwavering (5)___________, he pushed
forward, drawn by the allure of the unknown.

SubQuestion No : 83
Q.83 Select the most appropriate option to fill in blank no. 3.
Ans 1. with

2. along

3. for

4. in

Question ID : 264330169761
Option 1 ID : 264330665737
Option 2 ID : 264330665736
Option 3 ID : 264330665735
Option 4 ID : 264330665738

Status : Answered
Chosen Option : 1
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The (1)__________ traveller embarked on an exciting (2)__________ through uncharted
lands, seeking adventure and discovery. Armed (3)_____ a tattered map and a curious spirit,
he ventured into the dense forest, where the air was thick with the (4)__________ of wildlife
that echoed through the trees. The path ahead was obscured by overgrown vegetation and
tangled roots, challenging his every step. With unwavering (5)___________, he pushed
forward, drawn by the allure of the unknown.

SubQuestion No : 84
Q.84 Select the most appropriate option to fill in blank no. 4.
Ans 1. smell

2. sounds

3. visuals

4. touch

Question ID : 264330169762
Option 1 ID : 264330665739
Option 2 ID : 264330665741
Option 3 ID : 264330665742
Option 4 ID : 264330665740

Status : Not Answered
Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The (1)__________ traveller embarked on an exciting (2)__________ through uncharted
lands, seeking adventure and discovery. Armed (3)_____ a tattered map and a curious spirit,
he ventured into the dense forest, where the air was thick with the (4)__________ of wildlife
that echoed through the trees. The path ahead was obscured by overgrown vegetation and
tangled roots, challenging his every step. With unwavering (5)___________, he pushed
forward, drawn by the allure of the unknown.

SubQuestion No : 85
Q.85 Select the most appropriate option to fill in blank no. 5.
Ans 1. realisation

2. imagination

3. determination

4. protection

Question ID : 264330169763
Option 1 ID : 264330665746
Option 2 ID : 264330665743
Option 3 ID : 264330665744
Option 4 ID : 264330665745

Status : Answered
Chosen Option : 2
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Comprehension:
Read the given passage and answer the questions that follow.

In recent years, technology has revolutionised various aspects of our lives, including
communication, education, and entertainment. With the rise of smartphones and social media
platforms, people can now connect and interact with each other more easily than ever before.
Online learning platforms have also gained popularity, allowing individuals to acquire new
skills and knowledge from the comfort of their homes. Additionally, streaming services have
transformed the way we consume media, providing a vast array of movies, TV shows, and
music accessible at our fingertips. While technology has undoubtedly brought numerous
benefits, it is essential to strike a balance and ensure that we maintain real-life connections
and limit excessive screen time for a healthy and well-rounded lifestyle.

SubQuestion No : 86
Q.86 How have smartphones and social media platforms impacted people's lives?
Ans 1. They have made people more connected and interactive.

2. They have made communication more challenging.

3. They have made people less dependent on technology.

4. They have made people more isolated.

Question ID : 264330168237
Option 1 ID : 264330659821
Option 2 ID : 264330659820
Option 3 ID : 264330659822
Option 4 ID : 264330659819

Status : Answered
Chosen Option : 1

Comprehension:
Read the given passage and answer the questions that follow.

In recent years, technology has revolutionised various aspects of our lives, including
communication, education, and entertainment. With the rise of smartphones and social media
platforms, people can now connect and interact with each other more easily than ever before.
Online learning platforms have also gained popularity, allowing individuals to acquire new
skills and knowledge from the comfort of their homes. Additionally, streaming services have
transformed the way we consume media, providing a vast array of movies, TV shows, and
music accessible at our fingertips. While technology has undoubtedly brought numerous
benefits, it is essential to strike a balance and ensure that we maintain real-life connections
and limit excessive screen time for a healthy and well-rounded lifestyle.

SubQuestion No : 87
Q.87 What has technology revolutionised in recent years?
Ans 1. Fashion industry

2. Communication, education, and entertainment

3. Transportation

4. Agriculture

Question ID : 264330168236
Option 1 ID : 264330659816
Option 2 ID : 264330659817
Option 3 ID : 264330659815
Option 4 ID : 264330659818

Status : Answered
Chosen Option : 2
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Comprehension:
Read the given passage and answer the questions that follow.

In recent years, technology has revolutionised various aspects of our lives, including
communication, education, and entertainment. With the rise of smartphones and social media
platforms, people can now connect and interact with each other more easily than ever before.
Online learning platforms have also gained popularity, allowing individuals to acquire new
skills and knowledge from the comfort of their homes. Additionally, streaming services have
transformed the way we consume media, providing a vast array of movies, TV shows, and
music accessible at our fingertips. While technology has undoubtedly brought numerous
benefits, it is essential to strike a balance and ensure that we maintain real-life connections
and limit excessive screen time for a healthy and well-rounded lifestyle.

SubQuestion No : 88
Q.88 What does the term ‘revolutionised’ mean in the context of the passage?
Ans 1. Disassembled and reassembled

2. Transformed dramatically

3. Disrupted completely

4. Caused a physical upheaval

Question ID : 264330168239
Option 1 ID : 264330659830
Option 2 ID : 264330659828
Option 3 ID : 264330659829
Option 4 ID : 264330659827

Status : Answered
Chosen Option : 2

Comprehension:
Read the given passage and answer the questions that follow.

In recent years, technology has revolutionised various aspects of our lives, including
communication, education, and entertainment. With the rise of smartphones and social media
platforms, people can now connect and interact with each other more easily than ever before.
Online learning platforms have also gained popularity, allowing individuals to acquire new
skills and knowledge from the comfort of their homes. Additionally, streaming services have
transformed the way we consume media, providing a vast array of movies, TV shows, and
music accessible at our fingertips. While technology has undoubtedly brought numerous
benefits, it is essential to strike a balance and ensure that we maintain real-life connections
and limit excessive screen time for a healthy and well-rounded lifestyle.

SubQuestion No : 89
Q.89 What does the term ‘vast array’ mean in the context of the passage?
Ans 1. A narrow selection

2. A limited assortment

3. A wide variety

4. A small collection

Question ID : 264330168240
Option 1 ID : 264330659834
Option 2 ID : 264330659832
Option 3 ID : 264330659833
Option 4 ID : 264330659831

Status : Answered
Chosen Option : 3

 

 

 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:
Read the given passage and answer the questions that follow.

In recent years, technology has revolutionised various aspects of our lives, including
communication, education, and entertainment. With the rise of smartphones and social media
platforms, people can now connect and interact with each other more easily than ever before.
Online learning platforms have also gained popularity, allowing individuals to acquire new
skills and knowledge from the comfort of their homes. Additionally, streaming services have
transformed the way we consume media, providing a vast array of movies, TV shows, and
music accessible at our fingertips. While technology has undoubtedly brought numerous
benefits, it is essential to strike a balance and ensure that we maintain real-life connections
and limit excessive screen time for a healthy and well-rounded lifestyle.

SubQuestion No : 90
Q.90 What is one advantage of online learning platforms?
Ans 1. They require physical attendance at a specific location.

2. They provide opportunities to learn from home.

3. They are only accessible to a select few.

4. They limit individuals' ability to acquire new skills and knowledge.

Question ID : 264330168238
Option 1 ID : 264330659823
Option 2 ID : 264330659825
Option 3 ID : 264330659826
Option 4 ID : 264330659824

Status : Answered
Chosen Option : 2

Comprehension:
Read the given passage and answer the question that follows.
A veteran actor and important link with the golden age of Hindi and Marathi cinema,
Sulochana Latkar, passed away in Mumbai at 94 from age-related complications.
Hailing from Kolhapur, Sulochana made a name for herself as a leading heroine in Marathi
films before moving to Bombay cinema where she essayed various shades of motherly roles
in Hindi cinema for almost four decades.
Sulochana started her career with Bhalji Pendharkar’s Sasurrvas (1946). A young Sulochana
joined his famous Jaiprabha Studios on a monthly salary and learned the intricacies of the
craft under the watch of the legendary Marathi filmmaker.
Along with Nirupa Roy, Sulochana will be remembered for epitomising a selfless mother and
devoted spouse, which became central to Hindi film narratives in the 1960s and 70s.

SubQuestion No : 91
Q.91 Sulochana Latkar was an important link between:
Ans 1. Hindi and Marathi cinema

2. Hindi and Malayalam cinema

3. Hindi and Bhojpuri cinema

4. Hindi and Telugu cinema

Question ID : 264330169599
Option 1 ID : 264330665112
Option 2 ID : 264330665114
Option 3 ID : 264330665111
Option 4 ID : 264330665113

Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the question that follows.
A veteran actor and important link with the golden age of Hindi and Marathi cinema,
Sulochana Latkar, passed away in Mumbai at 94 from age-related complications.
Hailing from Kolhapur, Sulochana made a name for herself as a leading heroine in Marathi
films before moving to Bombay cinema where she essayed various shades of motherly roles
in Hindi cinema for almost four decades.
Sulochana started her career with Bhalji Pendharkar’s Sasurrvas (1946). A young Sulochana
joined his famous Jaiprabha Studios on a monthly salary and learned the intricacies of the
craft under the watch of the legendary Marathi filmmaker.
Along with Nirupa Roy, Sulochana will be remembered for epitomising a selfless mother and
devoted spouse, which became central to Hindi film narratives in the 1960s and 70s.

SubQuestion No : 92
Q.92 Select the correct order of the given facts based on the life of Sulochana Latkar, the

central figure of the passage.
P. She moved to Bombay cinema.
Q. She joined the famous Jaiprabha Studios.
R. She acted in Sasurrvas.
S. She passed away in Mumbai at 94.

Ans 1. QRPS

2. RQPS

3. PQRS

4. RQSP

Question ID : 264330169602
Option 1 ID : 264330665125
Option 2 ID : 264330665123
Option 3 ID : 264330665124
Option 4 ID : 264330665126

Status : Answered
Chosen Option : 1

Comprehension:
Read the given passage and answer the question that follows.
A veteran actor and important link with the golden age of Hindi and Marathi cinema,
Sulochana Latkar, passed away in Mumbai at 94 from age-related complications.
Hailing from Kolhapur, Sulochana made a name for herself as a leading heroine in Marathi
films before moving to Bombay cinema where she essayed various shades of motherly roles
in Hindi cinema for almost four decades.
Sulochana started her career with Bhalji Pendharkar’s Sasurrvas (1946). A young Sulochana
joined his famous Jaiprabha Studios on a monthly salary and learned the intricacies of the
craft under the watch of the legendary Marathi filmmaker.
Along with Nirupa Roy, Sulochana will be remembered for epitomising a selfless mother and
devoted spouse, which became central to Hindi film narratives in the 1960s and 70s.

SubQuestion No : 93
Q.93 Sulochana learned the intricacies of the craft under the guidance of:
Ans 1. Vijay Tendulkar

2. Mahesh Dattani

3. Bhalji Pendharkar

4. Badal Sirkar

Question ID : 264330169600
Option 1 ID : 264330665116
Option 2 ID : 264330665115
Option 3 ID : 264330665117
Option 4 ID : 264330665118

Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the question that follows.
A veteran actor and important link with the golden age of Hindi and Marathi cinema,
Sulochana Latkar, passed away in Mumbai at 94 from age-related complications.
Hailing from Kolhapur, Sulochana made a name for herself as a leading heroine in Marathi
films before moving to Bombay cinema where she essayed various shades of motherly roles
in Hindi cinema for almost four decades.
Sulochana started her career with Bhalji Pendharkar’s Sasurrvas (1946). A young Sulochana
joined his famous Jaiprabha Studios on a monthly salary and learned the intricacies of the
craft under the watch of the legendary Marathi filmmaker.
Along with Nirupa Roy, Sulochana will be remembered for epitomising a selfless mother and
devoted spouse, which became central to Hindi film narratives in the 1960s and 70s.

SubQuestion No : 94
Q.94 Which of the following is an INCORRECT fact with reference to the given passage?
Ans 1. Her native place was Gurdaspur.

2. She was a contemporary of Nirupa Roy.

3. She passed away at 94.

4. Sulochana Latkar played a motherly role in most of her films.

Question ID : 264330169601
Option 1 ID : 264330665120
Option 2 ID : 264330665121
Option 3 ID : 264330665122
Option 4 ID : 264330665119

Status : Answered
Chosen Option : 1

Comprehension:
Read the given passage and answer the question that follows.
A veteran actor and important link with the golden age of Hindi and Marathi cinema,
Sulochana Latkar, passed away in Mumbai at 94 from age-related complications.
Hailing from Kolhapur, Sulochana made a name for herself as a leading heroine in Marathi
films before moving to Bombay cinema where she essayed various shades of motherly roles
in Hindi cinema for almost four decades.
Sulochana started her career with Bhalji Pendharkar’s Sasurrvas (1946). A young Sulochana
joined his famous Jaiprabha Studios on a monthly salary and learned the intricacies of the
craft under the watch of the legendary Marathi filmmaker.
Along with Nirupa Roy, Sulochana will be remembered for epitomising a selfless mother and
devoted spouse, which became central to Hindi film narratives in the 1960s and 70s.

SubQuestion No : 95
Q.95 What was the reason behind Sulochana Latkar’s death?
Ans 1. Age-related complications

2. Cancer

3. Road accident

4. Heart-attack

Question ID : 264330169598
Option 1 ID : 264330665110
Option 2 ID : 264330665108
Option 3 ID : 264330665109
Option 4 ID : 264330665107

Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the questions that follow.

Is there a connection between the new spider found and Harry Potter, the popular boy wizard
from JK Rowling's books? After spending months observing it in its fragile environment, a
group of three Mumbai-based wildlife enthusiasts discovered a new species of spider, their
very own Fantastic Beast, in Kamataka's Kans Forest in December 2016. The spider, which
bears a striking resemblance to the Sorting Hat from JK Rowling's Harry Potter books, was
given the name Enenxia gryffindori by Rajashree Khalap, researcher Javed Ahmed, and
wildlife photographer Sumukha Javagal. The name is both a reference to the Harry Potter
series and a way to draw more attention to the eight-legged creatures. According to Javed,
the spider uses the shape of the magical hat during the day to hide from predators and look
like a dried leaf.
In fact, JK Rowling herself tweeted, "I'm truly honoured!" about it. Thank you for discovering
yet another Fantastic Beast! Khalap, a conservationist who works for the wildlife non-profit
Satpuda Foundation, claims that she identified with the main character of the film, Newt
Scamander, and his desire to travel the world studying and protecting creatures. The
announcement of the discovery came at the same time that the Harry Potter movie Fantastic
Beasts and Where to Find Them was released. How could they understand that the dreadful
little animal they had found had never been archived? It took a long time to observe.
Sometimes they would catch one and release it back into the wild only to discover that it
wasn't what they were looking for. They used a microscope to examine the spider and
compare it to all of the species that were known to be in the same genus when they thought
they had found the right one. In the past two years, Khalap and her naturalist and
arachnologist partner Javed have discovered five new species of spiders. The Paraplectana
rajashree, which is named after her, is one of these. It is a tiny nocturnal spider with a
ladybird-like appearance. Khalap claims that the evolution of spiders fascinates her. Some of
them live on leaves and are the same color as the leaves, while others live on tree trunks and
completely blend in with the bark; Some, like the flower crab spiders, have evolved to look
like their prey, while others, like the flower crab spiders, can even change colour.

SubQuestion No : 96
Q.96 Select the most appropriate synonym of the word ‘evolution’ in the context of the

passage.
Ans 1. Reversion

2. Development

3. Raise

4. Creation

Question ID : 264330169248
Option 1 ID : 264330663773
Option 2 ID : 264330663772
Option 3 ID : 264330663774
Option 4 ID : 264330663771

Status : Answered
Chosen Option : 2
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Comprehension:
Read the given passage and answer the questions that follow.

Is there a connection between the new spider found and Harry Potter, the popular boy wizard
from JK Rowling's books? After spending months observing it in its fragile environment, a
group of three Mumbai-based wildlife enthusiasts discovered a new species of spider, their
very own Fantastic Beast, in Kamataka's Kans Forest in December 2016. The spider, which
bears a striking resemblance to the Sorting Hat from JK Rowling's Harry Potter books, was
given the name Enenxia gryffindori by Rajashree Khalap, researcher Javed Ahmed, and
wildlife photographer Sumukha Javagal. The name is both a reference to the Harry Potter
series and a way to draw more attention to the eight-legged creatures. According to Javed,
the spider uses the shape of the magical hat during the day to hide from predators and look
like a dried leaf.
In fact, JK Rowling herself tweeted, "I'm truly honoured!" about it. Thank you for discovering
yet another Fantastic Beast! Khalap, a conservationist who works for the wildlife non-profit
Satpuda Foundation, claims that she identified with the main character of the film, Newt
Scamander, and his desire to travel the world studying and protecting creatures. The
announcement of the discovery came at the same time that the Harry Potter movie Fantastic
Beasts and Where to Find Them was released. How could they understand that the dreadful
little animal they had found had never been archived? It took a long time to observe.
Sometimes they would catch one and release it back into the wild only to discover that it
wasn't what they were looking for. They used a microscope to examine the spider and
compare it to all of the species that were known to be in the same genus when they thought
they had found the right one. In the past two years, Khalap and her naturalist and
arachnologist partner Javed have discovered five new species of spiders. The Paraplectana
rajashree, which is named after her, is one of these. It is a tiny nocturnal spider with a
ladybird-like appearance. Khalap claims that the evolution of spiders fascinates her. Some of
them live on leaves and are the same color as the leaves, while others live on tree trunks and
completely blend in with the bark; Some, like the flower crab spiders, have evolved to look
like their prey, while others, like the flower crab spiders, can even change colour.

SubQuestion No : 97
Q.97 Based on your reading of the passage, select the correct statement.
Ans 1. It has eight heads.

2. It was discovered in Kerala.

3. The spider uses the shape of magical hats to hide.

4. It looks like a stem.

Question ID : 264330169247
Option 1 ID : 264330663769
Option 2 ID : 264330663770
Option 3 ID : 264330663767
Option 4 ID : 264330663768

Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the questions that follow.

Is there a connection between the new spider found and Harry Potter, the popular boy wizard
from JK Rowling's books? After spending months observing it in its fragile environment, a
group of three Mumbai-based wildlife enthusiasts discovered a new species of spider, their
very own Fantastic Beast, in Kamataka's Kans Forest in December 2016. The spider, which
bears a striking resemblance to the Sorting Hat from JK Rowling's Harry Potter books, was
given the name Enenxia gryffindori by Rajashree Khalap, researcher Javed Ahmed, and
wildlife photographer Sumukha Javagal. The name is both a reference to the Harry Potter
series and a way to draw more attention to the eight-legged creatures. According to Javed,
the spider uses the shape of the magical hat during the day to hide from predators and look
like a dried leaf.
In fact, JK Rowling herself tweeted, "I'm truly honoured!" about it. Thank you for discovering
yet another Fantastic Beast! Khalap, a conservationist who works for the wildlife non-profit
Satpuda Foundation, claims that she identified with the main character of the film, Newt
Scamander, and his desire to travel the world studying and protecting creatures. The
announcement of the discovery came at the same time that the Harry Potter movie Fantastic
Beasts and Where to Find Them was released. How could they understand that the dreadful
little animal they had found had never been archived? It took a long time to observe.
Sometimes they would catch one and release it back into the wild only to discover that it
wasn't what they were looking for. They used a microscope to examine the spider and
compare it to all of the species that were known to be in the same genus when they thought
they had found the right one. In the past two years, Khalap and her naturalist and
arachnologist partner Javed have discovered five new species of spiders. The Paraplectana
rajashree, which is named after her, is one of these. It is a tiny nocturnal spider with a
ladybird-like appearance. Khalap claims that the evolution of spiders fascinates her. Some of
them live on leaves and are the same color as the leaves, while others live on tree trunks and
completely blend in with the bark; Some, like the flower crab spiders, have evolved to look
like their prey, while others, like the flower crab spiders, can even change colour.

SubQuestion No : 98
Q.98 Who works for Satpuda Foundation?
Ans 1. JK Rowling

2. Rajashree Khalap

3. Sumukha Javagal

4. Javed Ahmed

Question ID : 264330169246
Option 1 ID : 264330663763
Option 2 ID : 264330663765
Option 3 ID : 264330663764
Option 4 ID : 264330663766

Status : Answered
Chosen Option : 2
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Comprehension:
Read the given passage and answer the questions that follow.

Is there a connection between the new spider found and Harry Potter, the popular boy wizard
from JK Rowling's books? After spending months observing it in its fragile environment, a
group of three Mumbai-based wildlife enthusiasts discovered a new species of spider, their
very own Fantastic Beast, in Kamataka's Kans Forest in December 2016. The spider, which
bears a striking resemblance to the Sorting Hat from JK Rowling's Harry Potter books, was
given the name Enenxia gryffindori by Rajashree Khalap, researcher Javed Ahmed, and
wildlife photographer Sumukha Javagal. The name is both a reference to the Harry Potter
series and a way to draw more attention to the eight-legged creatures. According to Javed,
the spider uses the shape of the magical hat during the day to hide from predators and look
like a dried leaf.
In fact, JK Rowling herself tweeted, "I'm truly honoured!" about it. Thank you for discovering
yet another Fantastic Beast! Khalap, a conservationist who works for the wildlife non-profit
Satpuda Foundation, claims that she identified with the main character of the film, Newt
Scamander, and his desire to travel the world studying and protecting creatures. The
announcement of the discovery came at the same time that the Harry Potter movie Fantastic
Beasts and Where to Find Them was released. How could they understand that the dreadful
little animal they had found had never been archived? It took a long time to observe.
Sometimes they would catch one and release it back into the wild only to discover that it
wasn't what they were looking for. They used a microscope to examine the spider and
compare it to all of the species that were known to be in the same genus when they thought
they had found the right one. In the past two years, Khalap and her naturalist and
arachnologist partner Javed have discovered five new species of spiders. The Paraplectana
rajashree, which is named after her, is one of these. It is a tiny nocturnal spider with a
ladybird-like appearance. Khalap claims that the evolution of spiders fascinates her. Some of
them live on leaves and are the same color as the leaves, while others live on tree trunks and
completely blend in with the bark; Some, like the flower crab spiders, have evolved to look
like their prey, while others, like the flower crab spiders, can even change colour.

SubQuestion No : 99
Q.99 Select the most appropriate title for the passage.
Ans 1. The Sorting Hat Spider

2. Harry Potter and the Spider

3. Spider and Legs

4. The Discovery of a Spider

Question ID : 264330169244
Option 1 ID : 264330663757
Option 2 ID : 264330663758
Option 3 ID : 264330663755
Option 4 ID : 264330663756

Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the questions that follow.

Is there a connection between the new spider found and Harry Potter, the popular boy wizard
from JK Rowling's books? After spending months observing it in its fragile environment, a
group of three Mumbai-based wildlife enthusiasts discovered a new species of spider, their
very own Fantastic Beast, in Kamataka's Kans Forest in December 2016. The spider, which
bears a striking resemblance to the Sorting Hat from JK Rowling's Harry Potter books, was
given the name Enenxia gryffindori by Rajashree Khalap, researcher Javed Ahmed, and
wildlife photographer Sumukha Javagal. The name is both a reference to the Harry Potter
series and a way to draw more attention to the eight-legged creatures. According to Javed,
the spider uses the shape of the magical hat during the day to hide from predators and look
like a dried leaf.
In fact, JK Rowling herself tweeted, "I'm truly honoured!" about it. Thank you for discovering
yet another Fantastic Beast! Khalap, a conservationist who works for the wildlife non-profit
Satpuda Foundation, claims that she identified with the main character of the film, Newt
Scamander, and his desire to travel the world studying and protecting creatures. The
announcement of the discovery came at the same time that the Harry Potter movie Fantastic
Beasts and Where to Find Them was released. How could they understand that the dreadful
little animal they had found had never been archived? It took a long time to observe.
Sometimes they would catch one and release it back into the wild only to discover that it
wasn't what they were looking for. They used a microscope to examine the spider and
compare it to all of the species that were known to be in the same genus when they thought
they had found the right one. In the past two years, Khalap and her naturalist and
arachnologist partner Javed have discovered five new species of spiders. The Paraplectana
rajashree, which is named after her, is one of these. It is a tiny nocturnal spider with a
ladybird-like appearance. Khalap claims that the evolution of spiders fascinates her. Some of
them live on leaves and are the same color as the leaves, while others live on tree trunks and
completely blend in with the bark; Some, like the flower crab spiders, have evolved to look
like their prey, while others, like the flower crab spiders, can even change colour.

SubQuestion No : 100
Q.100 Who wrote Harry Potter?
Ans 1. JK Rowling

2. Javed Ahmed

3. Rajashree Khalap

4. Sumukha Javagal

Question ID : 264330169245
Option 1 ID : 264330663759
Option 2 ID : 264330663762
Option 3 ID : 264330663761
Option 4 ID : 264330663760

Status : Answered
Chosen Option : 1
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